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Question Number : 1 Question Id : 630680227166 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
UNESCO Peace Prize 2022 was awarded to
Options :

1. & Abdulrazak Gurnah

2. % Angela Merkel

3. & Louise Gliick

4. % Olga Tokarczuk

Question Number : 1 Question Id : 630680227166 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2022 OV (UNESCO) F°0e3 20830303 g ©DoV0H.
Options :
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1. % 20028 Hoe)
2. ¥ QoZer TLO

3. % ©ran HE

4. % 8.0 DS

Question Number : 2 Question Id : 630680227167 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Assembly Meeting of the International Solar Alliance (ISA) in 2022 approved ’Solar Facility’ - a payment guarantee
mechanism.

Options :
1. % First
2. % Third
3. ¢ Fifth
4. % Sixth

Question Number : 2 Question Id : 630680227167 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

202265 238805 0T B0 DS EEIN (ROLBLANS Ferd 9 aNS I-ISA) T3NS, @08 HIrS$oS’
‘Ferd DO SBrOODNOE - A 2.8 TOOD) Tt V0.

Options :

1% (DS

2. % 0

3. ¥ 08

4. % 8

Question Number : 3 Question Id : 630680227168 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding UNESCO?

I. In 2022, UNESCO launched the State of the Education Report (SOER) for India : Artificial Intelligence in Education — Here, There
and Everywhere.
II. UNESCO in 2022 released a list of 30 exclusive and iconic heritage textile crafts of India.

Options :

1. % Only I

2. @ Only II

3. % Both I and Il
4. % Neither I nor II

Question Number : 3 Question Id : 630680227168 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
OSNTLFYE0 (UNESCO) H020E0D 808 a7¢36¢3° OB IE/NB XD DE/D?

1. 202265, 273555350 §0 VE 8D JCSBAS BT (SOER)D OT, (2S00 D0E: DS S35 M)
(S8DAADHS YOTBOBIY) — @8y, €885 HOAN (DS Ew.

11, 202265 OSOTE), 2rESTTOE TOOS 30 (HBLETS SHBO (DPSFEE SR TS § Efer 2rDarey DS
Z0A.

Options :

IR NV

2. % 11 375

3. % 10805 IT e oy

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 2/74



29/05/2023, 11:02 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action
4. % 15°Q S 1 570 & 5°¢0

Question Number : 4 Question Id : 630680227169 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding the FIFA World Cup 2022?

1. It was held in Qatar.
II. Croatia ended up taking third place at the World Cup.
III. Angel di Maria scored two goals in the final match.

Options :

1. % OnlyI

2. % Only I and IT
3. % Only II and 11T
4. % Only III

Question Number : 4 Question Id : 630680227169 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
FIFA S8 9 2022 & 50200800 808 (DEEOSOES” DE/DN OB IE/IBID?

L 98 &6 28008,

I (HD0EDES’ TG Sor& 3065 AOD0A.

1L DS S355S” DoOBS & Sr80Sr Bock S ) )6 TR0A.
Options :

1. 8 1300(ed

2. % 10005 I e S (ebadd

3. % 11308050 1T € S°(eh o

4. % I S5

Question Number : 5 Question Id : 630680227170 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of military exercise and participating countries is/are correct?

I. Yudh Abhyas — India and the US
II. Mitra Shakti — India and Sri Lanka
III. Surya Kiran — India and Nepal

Options :

1. % OnlyI

2. % Only I and III
3. & Only IT and 11T
4. % 1, Il and 111

Question Number : 5 Question Id : 630680227170 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
&3 1808 DE D500 HOOW TSR BF BSOS DE/DR OBIE/ DBIE?

L. 308 @235 - 23S0 SBASW US
IL QLeb 38 - 2SS0 HBASW (0%
11 55 8B€D - 23735350 SDOAN JIrS

Options :
1. 8 13005
2. % 10005 I e S(eda

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 3/74



29/05/2023, 11:02 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

3. % 11508050 IIT € $33°(¢had
4. 1,11 O M1

Question Number : 6 Question Id : 630680227171 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

India’s first indigenous aircraft carrier was commissioned in September 2022. What is its name?
Options :

1. ¥ INS Vikrant

2. % INS Surya

3. % INS Ravi

4. % INS Virat

Question Number : 6 Question Id : 630680227171 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PSS T BVERNES DT DS axe>E &°8 (indigenous aircraft carrier) VRO 20226 BPB0DOIDB0E. T
DB AEI?

Options :

1. ¥ INS Q5°0

2. % INS Qdg

3. % INS O

4. % INS QOU°&

Question Number : 7 Question Id : 630680227172 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In November 2022, which union ministry approved India’s first Sovereign Green Bonds framework?
Options :

1. % Ministry of Finance and Corporate Affairs

2. % Ministry of Environment, Forest and Climate Change

3. % Ministry of Home Affairs

4. % Ministry of External Affairs

Question Number : 7 Question Id : 630680227172 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

35025 202265, 2GS ST3F) BNELIRNCES FSIES 1AS 23°0&)) 20552 & BO(E S00(E36¢5 § 3o SRTEODOE?
Options :

1. ¢ 388 OO SPEFIBE 538507 SO(e36b ¢ T

2. % DUEIBED, €982 SDBOIN aFTIBED S°B1)E 00(Ed¢h § T

3. % U0 3§3IFT s0O(e36b ¢ 3°Y

4. % DB SITPT $H0(Edeh § Fo

Question Number : 8 Question Id : 630680227173 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Production Linked Incentive (PLI) scheme to support the indigenous
drone industry in India?

I. In November 2022, the Ministry of Civil Aviation issued the guidelines for this scheme.
II. For the implementation of this scheme during 2022-23 to 2024-25, a corpus of 120 crores has been allocated.

Options :
1. % Only I
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2. % Only II

3. % Both I and II
4. #% Neither I nor I1

Question Number : 8 Question Id : 630680227173 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2ESTIOS' D BD (S HOIFNB0 S0DB0 95 T8 €55 18 9 NDOTT (F&)57 S (PLI) HFHSE 5020050
808 (DELSOS’ DE/DR HBIE/IBIN?

L 35025 202265, DS DXTSOETS S00(€3¢5 € 7o St DHE0 FBH SPGBz 2378 TR0E.

I1. &8 D5, @0 WANEGO FHBEO 2022-23 0 2024-25 BB, 2120 §E A TEraN0BDR0E.
Options :

1. % 135

2. % 1137 add

3. ¢ 1080 11 e oy

4. % 15°Q S 115 O 5o

Question Number : 9 Question Id : 630680227174 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding the Agni-V missile that was successfully test-fired in December 20227

I. It is a nuclear-capable ballistic missile.
II. It can strike targets at ranges upto 6000 km.

Options :

1. % Only I

2. % Only II

3. % Both I and Il
4. % Neither I nor II

Question Number : 9 Question Id : 630680227174 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
E0285 2022 & D2BONS0SOT HEE 0THES e8) -V 85638 H0220H0D (B0 ¢3S A/ OB IE/OBXID?

L 2O @ 050 Ko B3R §He.

1. & 6,000 km D8E SEZL K> 5O BEOHEED.
Options :

1. ¥ 1 35

2. % 11 S5

3. % 108050 I e oy

4. 2 15°Q S 11 5°Q D& 570

Question Number : 10 Question Id : 630680227175 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are correct regarding the Amrit Sarovar Mission?

1. The Government has planned to construct 50,000 Amrit Sarovars across the country by 15th August 2025.
I1. Mission Amrit Sarovar was launched on 24t April 2022, by Prime Minister Narendra Modi.

I1. As of 17! November 2022, approximately 90,531 sites had been selected for the construction of Amrit Sarovars, and work had
begun on 52,245 at the selected locations.

Options :
1. & OnlyIandII
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2. % Only II and III
3. % Only I and III
4. % [, [T and III

Question Number : 10 Question Id : 630680227175 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
2509 ST B WASEL H0220H0D) 808 ¢3S’ DO OB (HEEIS?

1. 15 €6&Y 2025 0°¢38 TS50 50,000 €609 TP ABL0TOR (025065 50 (DT DE T0A.

IL 2022 DS 24 & MAS 9509 D HE DTS s00(8 SBOE BTG TS VM (S0 OTTS.

1L 17 33025 2022 7°¢38, €9509¢5 TS QT390 FBEL 0e3°Ed 90,531 DEFEN DONE TWOANTTON DBAIN DONE
TS QeroeS) 52,245 |DTBFOS” HHEN (G025 AST50O0.

Options :

1. 8 108050 II e 35°(eh

2. % 11 0005 I e S5°(edad

3. % 1308050 II e S5°(¢hosd

4, % I, 1T OOASY 111

Question Number : 11 Question Id : 630680227176 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding ‘Death Penalty in India, Annual Statistics Report, 2022’ released by Project
39A of the National Law University (NLU)?

I. Trial courts across the country imposed 165 death sentences in 2022.
II. 539 prisoners were on death row by the end of 2022.

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 11 Question Id : 630680227176 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PBOD e DI LT OO0 (NLU) (BT 39A IS TR 2S00 sh3ends, 0% feroste ASEE, 2022 &
0220500 808 ¢3S DE/DD DBIE/IBIN?

1. 2022 &’ B350 (€I0DS TN 165 08 DE 0 DEOTIOW.
IL 2022 D38 °¢38 539 HOE BALD DGBBE. HAIES &) &.

Options :

1. 8 130°(ed

2. % 11 S7(badd

3. % 10805 1T e Bocky

4. % 15°Q S 11 5°Q DA 57D

Question Number : 12 Question Id : 630680227177 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which two organisations launched the ‘She Feeds the World’ program in India in January 2023?
Options :

1. % The Coca-Cola Foundation and Action Against Hunger

2. # The Coca-Cola Foundation and CARE

3. % PepsiCo Foundation and Action Against Hunger
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4. ¢ PepsiCo Foundation and CARE

Question Number : 12 Question Id : 630680227177 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2385658 2023 & 2rSESTI0S” Q) BO DODEN ‘A DEY & SB’ 5B ESTRY, (BFB0DOTTON?
Options :

1. % §'5°-8%r DP0BAS OO €388 558338 385 (Action Against Hunger)

2. % 858> FP0BAS 08050 CARE

3. % DV)E FPOTAS 0805 88O S5BTE 9B (Action Against Hunger)

4. ¢ 0D DPOBAS 8A50 CARE

Question Number : 13 Question Id : 630680227178 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On India’s 75 Independence Day, it was announced that petrified rice will be supplied in every scheme of the Government of India.
What does petrification of rice mean?

Options :

1. % Adding FRK containing macronutrients to normal rice

2. % Adding FRK containing micronutrients to normal rice

3. ® Making rice impurity free

4. % Brightening the colour of rice

Question Number : 13 Question Id : 630680227178 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

2PESTIE 75 &5 A SHOBBT S Y50 HOBBE)OM, 2378 (2505 $0 TINEY, (D HDGHE0SS V(DG DAHSO JEHo®
TOHVCERB0A (D30T, DANI0 DEINTAN 0T )aNES?

Options :

1. % S ONIOS AP FATO O &59) FRKQ $0%0

2. ¢ B DONIOS g 2 FATOX OB &5) FRKQ $0D0

3. % DO EO) BeredInmT TAHB0

4. % DONIO BOKH (D5°FH050 TAHBO

Question Number : 14 Question Id : 630680227179 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was the name of the world's first sheep to be cloned?
Options :

1. % Garima

2. % Mahima

3. % Dolly

4. % Kajal

Question Number : 14 Question Id : 630680227179 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1950506 R Bcde3r FA0R TOHDES FB S DNWE3?
Options :

1. % (8°

2. % 0N

3. ¥ O
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4. % P8O

Question Number : 15 Question Id : 630680227180 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following compounds with their formulas.

Compound Formula
I | Sodium hydroxide [ | CaOCly
II | Bleaching powder 2 | NaOH
III | Baking soda 3 | NaHCO;3
Options :

1. % I-1, [I-2, I11-3
2. % -2, 11-1, I11-3
3. % 1-2, 11-3, ITI-1
4. % 1-3, II-1, I1I-2

Question Number : 15 Question Id : 630680227180 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

308 D) PO T @“ﬁ)&e}“v@ﬁ BODOS0C.

QR0 ¥00 oy e
| | Feobo TeE 1 | ca0Cl,
| | §Doh T 2 | NaOH
i | 8806 Fe 3 | NaHCO,

Options :
1. % I-1, 11-2, 1113

2. % 1-2, 11-1, 113
3. % 1-2, 11-3, 1TI-1
4. % [-3,1I-1, III-2

Question Number : 16 Question Id : 630680227181 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of normal blood pressure and its value is/are correct?

I. Normal Systolic : 80 mm of Hg
II. Normal Diastolic : 120 mm of Hg

Options :

1. % Only I

2. % Only II

3. % BothIandII
4.+ Neither I nor II

Question Number : 16 Question Id : 630680227181 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

e BEFEN DO TR Desd TBEY (0B 2656 DE/DD OB SE/IBID?

L S DPFOT D80 : 80 mm He

IL 556 CHOSPPOS D30 : 120 mm Hg
Options :

1. 8 1300(edo

2. % 11 375

3. % 10805 IT e Bocky

4. ¢ 150 S 11 5°Q DA 57D

Question Number : 17 Question Id : 630680227182 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements regarding atoms are correct?

I. Number of protons determine their atomic number.
II. Number of protons and neutrons determine their mass number.
II1. Electrons are present in the nucleus of an atom.

Options :

1. % Only I and IT
2. % Only II and III
3. % Only I and III
4. % I, 1T and III

Question Number : 17 Question Id : 630680227182 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DBRPENYOB D0D0EO0D 80 DL DA HBIE?

L (XS QORS a3°¢3 HSIPend SO 5D AQONN0A.

11 &R 08050 STSEFR DOS 3°¢3 (€3635T0°3 SO AQANNOA.
1L HSXTENS) TB0E), TOISE0S’ DO FY E0erow.

Options :

1. ¥ 108050 I e S5 ehadd

2. % 11308050 I e 85753

3. % 1308050 1T € S°(¢hodd

4. % 1,11 OB I

Question Number : 18 Question Id : 630680227183 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements regarding mitosis is/are correct?

1. Each cell divides to form two identical daughter cells.
IL. It helps in the growth and repair of tissues in organisms.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 18 Question Id : 630680227183 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
D0D2523580 H02I0H0D) OB (DELIOES DA/ HBIE/IBTID?

1. €3 £€90 BO DB DO FET°NIT B )EETON.

IL 20 B3OS Eeaesere B 0BA5N DB SIFANIESI0E.
Options :

1. % 1305

2. % 11375

3.9 108050 1T e oy

4. 8% 15°Q0 B 11570 O 5°¢0

Question Number : 19 Question Id : 630680227184 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are also known as flowering plants?
Options :

1. % Gymnosperms

2. ¥ Angiosperms

3. % Algae

4. % Pteridophytes

Question Number : 19 Question Id : 630680227184 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

208 ¢3S BA HAOT BE)eN @ ST 90EFE?
Options :

I % DSYsdesen

2. ¥ 85958)een

3. % 3deren

4. % OB D)

Question Number : 20 Question Id : 630680227185 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options contains the correct order of flow of energy in the ecosystem?
Options :

1. % Sunlight, producers, herbivores, carnivores, top carnivores

2. # Producers, sunlight, herbivores, carnivores, top carnivores

3. % Sunlight, herbivores, producers, carnivores, top carnivores

4. % Sunlight, top carnivores, carnivores, producers, herbivores

Question Number : 20 Question Id : 630680227185 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

80B &) DONES HT5HB€D 5539V F8§ (D0 TBNEY OB (E0 GOE?
Options :

1. ¥ QG $5°063, E5ed )3T e, PSP BICN, STFORIFEEN, | SO BN
2. % €55 BeN, DGO, PSP BN, SIP0RTIFEEN, | SO BIEN
3. % QrG55T08, FPSIFEEN, e JBTTBICN, SPORTLFEEN, e((f SIORTEFEEN
4. % Q8557083 ({5 STORTIFEEN, STPORTSIBEICN, Ered )3T BN, B ST BICN

Question Number : 21 Question Id : 630680227186 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

With respect to disaster prevention in India, the setting up of the National Disaster Management Authority (NDMA) is mandated by the
Disaster Management Act

Options :
1. & 2001
2. &% 2003
3. %2005
4. % 2007

Question Number : 21 Question Id : 630680227186 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

2PSESTI0S” DD DTGB D0D0EOD, DN A £33 9O 2SO DAY DB 557°€9 DO (NDMA) &
NT®YEN TANTTA) DD TR0,

Options :

1. % 2001

2. &% 2003

3. % 2005

4. % 2007

Question Number : 22 Question Id : 630680227187 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

GOME is a nadir-scanning ultraviolet and visible spectrometer for global monitoring of
Options :

1. % volcanic eruptions

2. % heat waves

3. % atmospheric ozone

4. % tsunami

Question Number : 22 Question Id : 630680227187 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

GOME @& 3308} (D0 D838 69 FB50 e G5-a7,. 000 @98 areh sHB05m 99Tt ) E0eB.
Options :

1. % @08) D85 D Herden

2. 8% SCTEN®

3. ¥ I8 LSS

4. % QO

Question Number : 23 Question Id : 630680227188 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With respect to disaster management, the terms Jawad, Nisarga, Asani are some examples of
Options :

1. @ satellites to detect ozone depletion

2. # ecarthquake-prone regions

3. % submarine to detect tsunami waves

4. % cyclone names

Question Number : 23 Question Id : 630680227188 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DALY QB §5980 HOVO0HOD, 8T8, AIY, I T H°eN 8 Q) GrSeaew.
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Options :
1 % &S § 69650 (HOOITR’ &d§3en
2. % B5°80D0 DO (roeTen)
3. % DR SS0TOR HBO0T BeroHT°N
4. ¢ 78 B

Question Number : 24 Question Id : 630680227189 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘World Energy Outlook 2022’ report was released by .
Options :

1. ¢ International Energy Agency

2. # World Bank

3. & World Economic Forum

4. % International Renewable Energy Agency

Question Number : 24 Question Id : 630680227189 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

15O DS TEen§ 2022’ AFAED DS TROL.
Options :

1. ¥ 20833 38S A8 DB

2. % 38D ersody

3. % S8 DEE B

4. % 0EBYASS BTS20 S DS DR

Question Number : 25 Question Id : 630680227190 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

United Nations has declared 2023 as the International Year of
Options :

1. % Sea food

2. % Wild fruits

3. % Commercial crops

4. « Millets

Question Number : 25 Question Id : 630680227190 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

20030 OB0EY ©0STZBOD D0 IGO0 2085072350 (HEE30D0E.
Options :

1% QW& 850

2. % €905 HOY

3. 8% 3238 0N

4. ¢ QD F°R°§EN

Question Number : 26 Question Id : 630680227191 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
The ‘Emissions Gap Report 2022’ was released by .
Options :
1. % World Bank
2. ¥ United Nations Environment Programme
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3. & International Renewable Energy Agency
4. % Global Green Growth Institute

Question Number : 26 Question Id : 630680227191 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

QAR TP§ B 2022’ Q A TISFS .

Options :

1. ® (D0 2§08

2. ¢ 085072350063 DT°598€d 5°8§18e00 (United Nations Environment Programme)

3. % @oég"é}oﬁo AT )8 RO K)ch) (International Renewable Energy Agency)
4. % 02 AS IFS ad), earsed

Question Number : 27 Question Id : 630680227192 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As of March 2022, as per [IUCN Red List, the African Cheetah is listed as .
Options :

1. ¢ vulnerable species

2. % endangered species

3. ® critically endangered species

4. % near threatened species

Question Number : 27 Question Id : 630680227192 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3570 2022 T°¢38, IUCN B& Q) [D5°80, SDES DBed T 2@ DoNDR08.
Options :

1. ¢ 5% EOR0T 2redren

2. % @0S0NTNI) e

3. % SSOMT OSSN 2 eheN

4. % ©0S0DIFETIE S €)Y 2 ehen

Question Number : 28 Question Id : 630680227193 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

What was India's rank in ‘Sustainable Development Report, 2022°?
Options :

1. % 120

2.¥ 121

3.8 122

4. % 123

Question Number : 28 Question Id : 630680227193 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NVE 9DSYE AIBE, 2022’ ¢5° 2B STTF0 TINEY T°050 DOEH?
Options :

1. % 120

2.9 121

3.8 122

4. % 123
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Question Number : 29 Question Id : 630680227194 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding the UN Framework Convention on Climate Change (UNFCCC)?

I. The UNFCCC was adopted in 1992 at the Rio Earth Summit.
II. Kyoto Protocol 1997 was not related to UNFCCC.

Options :

1. % Only I

2. % OnlyII

3. % Both I and II
4. % Neither I nor II

Question Number : 29 Question Id : 630680227194 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

TG S3PBN D UN 2030, ET S (UN Framework Convention on Climate Change -UNFCCC) 8 0200500 806
IEES3ES DA/ DB DB IE?

1. 199265° B35 B[ FDT DSrIF0S” UNFCCC e83Q030B08.
I §%5¢5° |95¢3°5°S 1997 UNFCCCE 5020080 5°6%.

Options :

IR NN

2. % 11 S0(ehadd

3. % 10805 IT e Bocky

4. % 15°Q S 11 5°Q DA 57D

Question Number : 30 Question Id : 630680227195 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding the United Nations Conference on the Human Environment?

L. It is also known as the Stockholm Conference.
IL. It was held in 1972.
III. In this conference, an Action Plan for the Human Environment was adopted.

Options :

1. % OnlyI

2. % Only II

3. % Onlyland II
4. % 1,11 and 11T

Question Number : 30 Question Id : 630680227195 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
S50 DTS00 BET°2 LI DN IZ HoD0E0D 80& (HELIOES IE/AD DB IE/DBIJ?

L A FTE00 DN, @ ez e9083°.
IL 2 1972 ¢ 28808.
1L &8 DN S5°965 HTHIBETAE HOOOODS TT°5IBE (DETDED €950 0TTED.

Options :

1. 8 13005

2. % 11 S0(ehad

3. % 1308050 IT e 85753
4. 1,11 0 M1
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Question Number : 31 Question Id : 630680227196 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following Indian rivers is/are correctly paired with its origin point?

I. Narmada — Amarkantak Hills
II. Indus — Near Lake Mansarowar

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 31 Question Id : 630680227196 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 2SO SCHEN DO ¢35 )6d T OB 2365/ DE/DD?

L SBE - 908068 Socsen

11 DO - S350 ABRE0 DB &S
Options :

1. % 130(badd

2. % 11 37(badd

3. ¥ 1000w 1T e Bockw

4. % 15°Q B 11 5°Q 0O 520

Question Number : 32 Question Id : 630680227197 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the option that arranges the following types of forests in India based on the amount of rainfall they receive in decreasing order.

I. Thorn forests
II. Tropical deciduous forests
III. Tropical evergreen forests

Options :

1. @& II-I-1II
2. & I-II-111
3. % III-11-1
4, s [-1II-IT

Question Number : 32 Question Id : 630680227197 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PESTI0S’ 80O B3 €959 9D FPOT ST 50 eETEOM 7] (500 95083 OB DONED HBoH0d

L. S0 e9¢eyen

I1. GO e3EVT°S.) BT SeN)
11 €&QeD0CE debed *Oeh eodearsen
Options :

1. s I-I-11I

2. % I-II-111

3. ¢ MI-1I-1

4. % I-II-I1

Question Number : 33 Question Id : 630680227198 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Match the following dams with their respective rivers in India.

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Dams Rivers
I | Hirakud Dam I | Krishna
II | Koyna Dam 2 | Bhagirathi
IIT | Tehri Dam 3 | Mahanadi
Options :

1. % 1-3, 11-2, TII-1
2.9 1.3, 1I-1, 1112
3. % I-1, 11-2, 1113
4. % 1-1,11-3, I11-2

Question Number : 33 Question Id : 630680227198 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

306 5SROV EPCEHDH0e5°D) TR Do0AH SO BEDGS0C.

535D RdceD
| | FORRE esse Sar
| | Eonrr essy aplgleta
0 | B eose S0TEIE
Options :

1. % 1-3, 11-2, 1I-1
2. 1.3, 11-1, 1112
3. % I-1, 11-2, 1113
4. % 1-1, 11-3, T11-2

Question Number : 34 Question Id : 630680227199 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What is the chronological order (first to last) of the following events regarding forest conservation in India?

I. Indian Wildlife (Protection) Act was passed.

II. Project Tiger was launched.

III. Environmental Protection Act was passed.

Options :

1. & IL I, I1I
2.9 111 111
3.8 1L IL T
4. % 1L L IO

Question Number : 34 Question Id : 630680227199 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : (
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rESTI0S @D D0SE 50 H0D0E0D) 0B DOMEINR TOEXFOTSE0 (BN HOG DI SE0)
@08 )DAS DONE DE?

L 25305 553 (35 €9) 940 SRFEOIDE0E.
1L (2§ B0 |rS0D0NDR08.

II1. HT°533€9 DOBE 9 IO BIFPAONDDRON.
Options :

1. % IL I, III

2.9 111 11

3.% 1L 1

4. % 1L I

Question Number : 35 Question Id : 630680227200 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the option that arranges the following Indian states with respect to their population density in descending order as per the 2011
census of India.

Options :

1. % Tamil Nadu, Kerala, Bihar
2. % Bihar, Tamil Nadu, Kerala
3. % Bihar, Kerala, Tamil Nadu
4. % Kerala, Bihar, Tamil Nadu

Question Number : 35 Question Id : 630680227200 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

2011 238 6h 232> BELE (DSEO T3 2309 0|55 STPSOM 2S00 T aFO 9357 (£’ e JODED
H8oB0&.

Options :

1. % ST, TS, DG
2. ¥ DB, ST, TEY
3. % DB, BB, SNSTCH
4. % B8Y, DBB, SN

Question Number : 36 Question Id : 630680227201 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following literacy rates with their respective states as per the Indian census of 2011.

Literacy Rates States
I | 61.80 per cent 1 | Bihar
II | 91.33 per cent 2 | Jharlkkhand

I | 66.41 per cent 3 | Mizoram

Options :

1. & I-1, [I-2, ITI-3
2. ¥ I-1, 11-3, 11I-2
3. % -3, 11-2, 11I-1
4. % 1-3,11-1, 1I-2

Question Number : 36 Question Id : 630680227201 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

201 2708 BT TG V500 308 LTS 5 T70 Vo200 Trgrod 28D0S0E.

9 E0°0[E Bew Uﬂgm
| | 61.80 a0 B
1 | 91.33 760 2 | ergocs
n | 66.41 w0 3 | do&foo
Options :

1. % I-1, [I-2, ITI-3
2. % 1-1, 11-3, 111-2
3. & [-3,11-2, III-1
4. % I-3,1I-1, III-2

Question Number : 37 Question Id : 630680227202 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of India's share with respect to world demography is/are correct (as per Census of India 2011)?

1. Area — 4.4 per cent of the world's total area
II. Population — 17.5 per cent of the world's total population

Options :

1. % OnlyI

2. ¥ Only II

3. % Both I and Il
4. % Neither I nor II

Question Number : 37 Question Id : 630680227202 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1IN0TS BeTE DODOE0D erEHTF ¢S 808 20O A& DB IE/NBID (rSSTS esar 2011 |HS°B0)?

L DRG0 - (HH0S Fndo VIS’ 4.4 3¢50
IL 23072 - (D0 INB0 B3eereS 17.5 3¢50
Options :

1. % 130(¢hadd

2. ¥ 11 S add

3. % [e08OW II e Bocky

4. % 15°Q S 11 5°Q DA 570

Question Number : 38 Question Id : 630680227203 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
Identify the option that arranges the following decades in terms of increasing rate of population growth in India?

I. 1971-1981
II. 1991-2001
II1. 2001-2011

Options :
1. % ILIIL T
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2. 1L LT
3.8 IIL LI
4. ¥ 1L 11, 1

Question Number : 38 Question Id : 630680227203 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BO& &7 er8eRBF0S 23a7er 0EMNEE Bew HSOM 0BT 10065 DTYeN TR DODEX H8050E?

I. 1971-1981
II. 1991-2001
II1. 2001-2011

Options :

1. & 1L OL T
2. % 1L LI
3.8 1L L II
4.+ 11, 11, 1

Question Number : 39 Question Id : 630680227204 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are INCORRECT regarding the crop production in India?

I. In India, rice is grown in winter because it requires low temperatures.
II. India is the leading producer of coffee in the world.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 39 Question Id : 630680227204 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2ESTI0S HOL s 188 HoDO0AOD 0B & 1HEEISEN DB IE/IBI 5°¢3/Y?

L. 275S$ T30S, 56 HOS0S” HOGIE, J0C0E0T A #5085 GFHeden Gowd.
IL [DD0N0ES’ 570 €565 )BS o SSTIF0 o™ &od.

Options :

1. 8 1300(ed

2. % 11 30(¢bhad

3. % 10805 1T e Bocky

4. % 15°Q S 11 5°Q DA 57D

Question Number : 40 Question Id : 630680227205 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is the correct order (from first to last) in terms of value addition in the textile industry?

1. Weaving
II. Spinning
III. Dyeing
Options :

1. % L 1L 11
2. % I 1L 1
3. % ML 1,11
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4. 11, 1L 111

Question Number : 40 Question Id : 630680227205 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SR DBFNS OB a3¢3 Densd 5@ DB DB (F00 (B0CIE3 0BG DB $SBB0) AE?

. SO0 (Weaving)

I1. Qe SO (Spinning)
11 30 e8¢0 (Dyeing)
Options :

1. & L, 11, I1I

2.8 1L IL T

3.8 IIL LI

4. 11,1, 11

Question Number : 41 Question Id : 630680227206 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the option that arranges the following ports with respect to their location from north to south.

I. Chennai Port
II. Vishakhapatnam Port
III. Paradip Port

Options :

1. & I, I, 11
2.% LI I
3.ILILIT
4. % 11, L 11T

Question Number : 41 Question Id : 630680227206 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
1BO& 4,689 €SB0 OB S8 6 BIT 3¢3 T SETEOT DB (50 9508305 D0DED HBoH0A.

L33 4809

11 DFPPHDEI 0 8,8
ML O°QD 8,850
Options :

1. & L IIL, 1T

2.8 L1110

3. 10111 1

4. % I L 10

Question Number : 42 Question Id : 630680227207 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is/are key feature/s of the Constitution of India?

I. Federalism
II. Separation of Powers

Options :

1. & Onlyl

2. % Only II

3. % Both I and II
4. % Neither I nor II
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Question Number : 42 Question Id : 630680227207 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
531808 ¢3S’ 27 Beh To2S0MH0 TBNE), NP OF 90/ DE/DN?

L. Q3P PEN 0

II. @OST°® D238

Options :

1. % 130

2. % 11375

3.9 108050 1T e Boky

4. % 15°Q B 1 5°Q OO 5280

Question Number : 43 Question Id : 630680227208 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the correct order (from first to last) of the following words mentioned in the Preamble of the Constitution of India?
Options :

1. ¥ Sovereign, Socialist, Secular

2. # Socialist, Secular, Sovereign

3. # Secular, Sovereign, Socialist

4. % Secular, Socialist, Sovereign

Question Number : 43 Question Id : 630680227208 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2SS T7e3500 DOES YD), 88 1808 DTS (RNCEI HOG DI SBE) DB (Z00 eE3?
Options :

1. ¢ 28 52570, APe$eed, e3°88a°eS

2. % a5, €3788arES, rS 525 7eN

3. % SP88°C00, RS 2570, e §°CS

4. % 3°8EaCS, PN§TE, S 52570

Question Number : 44 Question Id : 630680227209 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Directive Principles of State Policy mentioned in the Constitution of
India?

1. Article 50 mentions the promotion of international peace and security.

II. Article 50A deals with the protection and improvement of the environment.

III. Article 46 mentions about the promotion of educational and economic interest of scheduled caste, scheduled tribes and other weaker
sections.

Options :

1. % Only I

2. % Only I and IT
3. % Only II and 111
4. % Only III

Question Number : 44 Question Id : 630680227209 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2SS 07250806 ES), TR DG B FE A (@) H00H0D &8 (808 (DELSDOES” DE/ DR HBIE/ DBSY?

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 21/74



29/05/2023, 11:02 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

L. ©05EB0 50 @0HTSAD F0 DO 23[9 (5 )2r0TIB0 MHBOD (DTVODOE.

1L ©9OEB0 50A DTS DBBE €9 sHOAN DBINDSTIBOS 5§3TFENOE.

111 e9EB€I0 46 S Boeren, BT BHe BN VS 2OETS ST DI SOOI 38 (DTZrBT ™D
(8¢5 107030 (NO0D) (DTDODOE.

Options :

1. 8 1300(edo

2. % 1308050 I &0 S

3. % 11308050 1T e S°(ehodd

4. % TIL S5

Question Number : 45 Question Id : 630680227210 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct chronological order (first to last) of the following amendments of the Constitution of India.
Options :

lth

1. ¢ Incorporation of Dadra, Nagar and Haveli as Union Territory, addition of Panchayats, addition of 11" fundamental duty

lth

2. % Addition of Panchayats, incorporation of Dadra, Nagar and Haveli as Union Territory, addition of 11" fundamental duty

1 th

3. & Incorporation of Dadra, Nagar and Haveli as Union Territory, addition of 11" fundamental duty, addition of Panchayats

4. % Addition of 11™ fundamental duty, incorporation of Dadra, Nagar and Haveli as Union Territory, addition of Panchayats

Question Number : 45 Question Id : 630680227210 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

275 T7es0f0ES° ) & 1808 D586 DB SOESTY, (FNCEHE 0GB DB $SEE) HBOSOE.

Options :

1. ¢ T, S5 BN TS BodFOes (2050 OG0 TONCHO, HOTTONB FB0Y), 11 & (DB
FOESVINVER ol Te)

2. % DOTFOHB S0, T, SHE HBAN FBDeE BodFOS (oS0 DS TONCEO, 11 & (D
SPE02 0 DEYCO

3. % CPE, B OO SFHOO B 1050 OG0 TONSO, 11 8 [FPHONE 78020 TS0,
JoaHee SGosy

4. % 11 5 ([FONE 578030 DB, (T, S5 B sFS O Bo(d e (oo IO TAWcso,
DoaHee SRoS

Question Number : 46 Question Id : 630680227211 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Article of the Constitution of India gives the definition of money bills of the Parliament?
Options :

1. ® Article 108

2.9 Article 110

3. % Article 112

4. & Article 114

Question Number : 46 Question Id : 630680227211 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

OO0 (€935 DN QB L9, 2G5 eh T7ar 50803 @) 9OEBE0 0BNOE?
Options :

1. % @880 108

2. ¥ @OES0 110

3. # ©O8G90 112
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4. % 880 114

Question Number : 47 Question Id : 630680227212 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding Indian Judiciary?

1. The original jurisdiction of the Supreme Court is not applicable on disputes related to state governments and the Government of India.
II. The law declared by the Supreme Court shall be binding on all courts within the territory of India.

Options :

1. & OnlyI

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 47 Question Id : 630680227212 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
255 D ONS5IVEY HODOBOD &3 (80O 7¢3S° DA/ DBIE/ DBIN?

L 073 (2T £ OO 2378 (H20E§IE D000 eI N(NOFED TINE) e9Hen S H8E
S80od.

I [D0EE) (HEEB0DS HEFE 238 Srerios'D ) F&en &nad HoTd.

Options :

1. 8 130(edo

2. ¥ 11 S5

3. % 10805 IT e Bodkky

4. % 15°Q S 11 5°Q DA 57D

Question Number : 48 Question Id : 630680227213 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are INCORRECT regarding the State Legislative Council?

1. The strength of the State Legislative Council of a state must be more than one-tenth that of the State Legislative Assembly of that state.
II. All the members of the State Legislative Council are nominated by the Governor.
III. As of May 2022, there are 11 states in India with a State Legislative Council.

Options :

1. & OnlyI

2. % Only I and II
3. % Only II and IIT
4. % 1, Il and 111

Question Number : 48 Question Id : 630680227213 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TR B0 00GO8 H0230H0D &3 180 (DELSS” DA/ OB SB/OBSD S°¢5?

L. 2.8 O°(20 TB0E), T3 320 003 2200 & TR TSI’ DS 5068 E0T JB0)ST o).
1L O 3206 00 5250508 156585 TradRE] T .
IIL 33 2022 °¢38, 23 BSHTFOS” T7 (3 oIS s0cE K> 11 T°alen ).

Options :

1. 8 1300(eda

2. % 1308050 I e 575
3. % 11308050 I € S°(eh %
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4. 1,11 0O 111

Question Number : 49 Question Id : 630680227214 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identity the correct decreasing order of the given Indian states with respect to the number of seats in the State Legislative Assembly?
Options :

1. ¢ Gujarat, Andhra Pradesh, Assam, Jharkhand

2. % Andhra Pradesh, Gujarat, Assam, Jharkhand

3. % Jharkhand, Gujarat, Assam, Andhra Pradesh

4. % Gujarat, Assam, Andhra Pradesh, Jharkhand

Question Number : 49 Question Id : 630680227214 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR T30S DE) HoP§H HDOROE0D, B 502G 2TEBOD T aF® TBNEY DB S7 (§:00?
Options :

1. ¢ H230°S, e0|O(N0DT, OO, Q08

2. % SO|QINTT, BT, )0, 23*P0&k

3. % 2PQ0&, NRT°S, IO, SO(DDD3

4. % 230°B, OO0, SO(HINT3, 2P0k

Question Number : 50 Question Id : 630680227215 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is the order (first to last) of the following items mentioned in the schedule of the Constitution of India?
Options :

1. # Languages, Union List, Forms of Oaths or Affirmations

2. % Forms of Oaths or Affirmations, Union List, Languages

3. ® Forms of Oaths or Affirmations, Languages, Union List

4. % Union List, Languages, Forms of Oaths or Affirmations

Question Number : 50 Question Id : 630680227215 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

2SS O°a350%0 TINEY PSS’ & (80 90770 820G (50 (FN0CES 0B DN SEEY) DE?
Options :

1. % 27000, BO(ES (9268 § 23°E, |DITED 0 ST BT 39 NEBEIE ETaIrex

2. ¢ [DSTE VIO B H9RNEBa Sraren, ToICS (205 ¢ 22D, 2720

3. % (ST VSISO B HNEBEI Baren, 272, SO (D20 ¢ erde

4. % B0IS (206 § 2P, 27N, (D3I ST BT NG Braren

Question Number : 51 Question Id : 630680227216 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the Constitution of India, the duration of municipalities is
Options :

1. ® three years

2. % four years

3. ¢ five years

4. % six years

Question Number : 51 Question Id : 630680227216 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
28¢5 To2S0N0 |DSG0, SNV 50 H558 .
Options :
1. % 03¢ O0ded )T e
2. % e 0SS TP
3. ¢ 2080 D0ded yoren
4. 5% &S O0ed YT e

Question Number : 52 Question Id : 630680227217 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Article 243-1 of the Constitution of India provides for

Options :

1. & elections to the Panchayats

2. ¥ constitution of the Finance Commission to review the financial position of the Panchayats
3. ® powers, authority and responsibilities of Panchayats

4. % duration of Panchayats

Question Number : 52 Question Id : 630680227217 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rGeh ToesoN0S ) @BEB0 2431 & S55578008.

Options :

1. % DOTTONBOZ D) Een

2. ¥ J0TFOHBE @30E DBHAIOD DDE 0VTAL DTS NS TZNEY DT*€0
3. % DOTTONNS ATV, @O B0 BN 2FCISeHe

4. % HOTTONBE T H§IE

Question Number : 53 Question Id : 630680227218 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

Part IX (A) of the Constitution of the India was included in the Constitution by which constitutional amendment act?
Options :

1. ¢ 74" Amendment Act

2. % 76 sixth Amendment Act

3. % 78" Amendment Act

4. % 70" Amendment Act

Question Number : 53 Question Id : 630680227218 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

256 T2 5080 IX (A) DeTH0 & T°eR50H 3G THLO T s0° Te50506S TB)Y22BH0E?
Options :

1. ¥ 74 &5 05389 d&0

2. % 76 o 0389 WOEO

3. % 78 & 0388 W&0

4. % 70 &S Q3B TIEO

Question Number : 54 Question Id : 630680227219 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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When Alivardi Khan died in 1756, Siraj-ud-daulah became the
Options :
1. ¥ Nawab of Bengal
2. % Nawab of Mysore
3. #% Nawab of Oudh
4. % Nawab of Lucknow

Question Number : 54 Question Id : 630680227219 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

175665 @993 5 S0BBODIN I, DTS -&&-F'er __ e90srse.
Options :

1. ¢ ZBomrd S0

2. % QD dren

3. % @08 S

4. % ©F) S5

Question Number : 55 Question Id : 630680227220 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Non-Cooperation and Khilafat Movement began in
Options :

1. % January 1921

2. % February 1921

3. ®% March 1921

4. % April 1921

Question Number : 55 Question Id : 630680227220 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D505 QT°EBED HOAN Derd 59500 S |FS0S0E.
Options :

1. ¥ 233050 1921

2. % D58 1921

3. % 0 1921

4. % DO 1921

Question Number : 56 Question Id : 630680227221 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct?

I. In 1765, the Mughal emperor appointed the East India Company as the Diwan of the provinces of Bombay.
II. After the Battle of Buxar, the East India Company removed British residents from Indian states.

Options :

1. & OnlyI

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 56 Question Id : 630680227221 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&3 (808 [HEOIS DB/ DBIE/DBI?
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L 176565, 3050S 88 & 0GOS S0 &°02500 [P0 IO OTST AODNOTTE.
L 28 )0 AP0 S$Bareh, S ROBAT® E0 (D3N DT IHE 2S00 TP OB FOA0DOE.

Options :

1. % I 30o(bad

2. % 11 S°(ebhadd

3. % 10805 IT e oy

4. ¥ 150 B 15 OO 5280

Question Number : 57 Question Id : 630680227222 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following historical organisations / parties and the leaders associated with them with respect to the Indian

freedom struggle.

Organisations / Parties Their Leaders

I | Hindustan Socialist Republican Army | | | Motilal Nehru

11 | Swaraj Party Mahatma Gandhi

[ B¥]

I | Natal Indian Congress 3 | Bhagat Singh

Options :

1. & I-1, I1-2, III-3
2.9 1.3, 1I-1, 1112
3. % 1-3,11-2, ITI-1
4. & 1-2,11-3, I1I-1

Question Number : 57 Question Id : 630680227222 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ao 3] ﬂv&e:aogé TorerdE Howobhod) & S0 orOBS roogwf.i‘wgm S0B0ID A 9030 E) TODDHOND
REHDOS00

‘&:—o‘(g&mb‘ém T8 oD

| ?Jnoc:i).gﬂé ﬁmag; BDDSD Ejéé 1| 2ederes QT

1 | s0°E 8 2 | ey TPod
111 | 7885 @otodD 570dR 3| Z363 Do
Options :

1. % I-1, 1I-2, 1II-3
2. % -3, 1I-1, 1112
3. % [-3,11-2, ITI-1
4. % 1-2,11-3, I1I-1

Question Number : 58 Question Id : 630680227223 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following kingdoms is/are correctly paired with the years in which they were annexed by the British?
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I. Satara: 1848
II. Sambalpur: 1852
I11. Udaipur: 1850

Options :

1. % Only [

2. % Only II

3. % Only I and II
4. % Only II and III

Question Number : 58 Question Id : 630680227223 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&3 (808 TrersoS DO/ DB 78T IDS0 TAHDED HOSSIT-OS DB 3¢5 TADDGOE?

I Q&0 1848

I1. Sodex®)d: 1852

I &¢5a%ey°0: 1850

Options :

IS NN

2. % 11 S0 badd

3. % 10005 I e Sr(edadd
4. % 11308050 I € S5°(eH %

Question Number : 59 Question Id : 630680227224 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the correct chronological order (first to last) of the following events in Indian history?

1. Formation of the All India Muslim League at Dacca
II. Bengal partition by Viceroy Curzon
II1. The Indian National Congress split

Options :

1. % LI, 11T
2. 1L IL T
3. 011111
4. % L 1IL 11

Question Number : 59 Question Id : 630680227224 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2GS0 SB[’ &2 (80B H0NEINE DB SO(EN0 (BCHE3 OB DB HBED) DES?

L TS &S Q0305 SwR0 OF Jo°)ew
I (oD 88 o §o° o D258

111 23°8¢5 237305 SO0 DOV
Options :

I s L 1L III

2. % ML IL I

3.YIL LI

4. % LIIL I

Question Number : 60 Question Id : 630680227225 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the option that arranges the following main centres of the Revolt of 1857 from north to south.
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I. Kanpur
1I. Bareilly
II1. Meerut

Options :

1. % LI, 11T
2. % 1L L 1T
3.8 ILIIL I
4.+ 11, 11, 1

Question Number : 60 Question Id : 630680227225 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1857 SB0025E0 TBEY &5 (80 (DTS 0[P GBS0 0B B8 778 DTN TR DONEXD 1H8050A.

L 5°8°)0
1. 2288
1 3
Options :

1. % L 11, III
2. % IL LI
3. % 1L 101,
4. 1L 11, 1

Question Number : 61 Question Id : 630680227226 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After the economic reforms of 1991, there was an increase in ‘FII’ in the Indian economy. What does FII stand for?
Options :

1. & First Institutional Insurances

2. % Foreign Insurance Investors

3. ¥ Foreign Institutional Investors

4. @ First Institutional Investors

Question Number : 61 Question Id : 630680227226 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

1991 €398 D0 B> ST 5eh 237 eh e30F 590" FII” DOAOE. FII @908 dE3?
Options :

1. % D AV, LTSNS YA IBT Y (First Institutional Insurances)

2. % PO AAT)YBR) A0 (Foreign Insurance Investors)

3. ¢ PO a&)gmwgcﬁéé '&3&5}53 (Foreign Institutional Investors)

4. % ;Di&) AR, ESANO BRSO (First Institutional Investors)

Question Number : 62 Question Id : 630680227227 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct with respect to the New Economic Policy of 1991 of India?
Options :

1. % Privatisation of the public sector enterprise was banned.

2. # The Rate of corporation tax was increased.

3. # Import licensing was abolished.

4. % Outsourcing of services was abolished.
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Question Number : 62 Question Id : 630680227227 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1991 2778 ¢h SehS €308 D8 H0D0HOD & 180 e3¢ DB (DEEIS DE?

Options :

1. % 125065 ¢ 30K HOQ TBNEY 33580 ARE0TTS.

2. % S°IBAS D) BEw D8A0A.

3. ¢ B0 BADH0N B TOHDROH.

4. % TE 800 VIO S TFK.

Question Number : 63 Question Id : 630680227228 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct expression for gross fiscal deficit?
Options :

1. # Total expenditure — (Revenue receipts + Non-debt creating receipts)
2. # Total expenditure + (Revenue receipts + Non-debt creating receipts)
3. # Total expenditure — (Revenue receipts — Non-debt creating receipts)
4. % Total expenditure + (Revenue receipts — Non-debt creating receipts)

Question Number : 63 Question Id : 630680227228 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

&3 (808 ¢3S red (69655 Sy DB H55883 DE?

Options :

1. ¢ [0SO H50N0 — (BASTS €3TTPON + 220EFHES e3P O0eN)
2. % RNB0 HON0 + (BT SO + NEEHES e8TTON)
3. % 00 H0N0 — (BAXTS 3T AAN — 220EFSS eSTFONXW)
4. % JNBO H5ONO0 + (BAXTS TIPS — 2NEFHS TP OIN)

Question Number : 64 Question Id : 630680227229 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who gave the idea in the ‘General Theory of Employment, Interest and Money’ that government fiscal policy should be used to stabilise
the level of output and employment?

Options :

1. & Adam Smith

2. % Milton Friedman
3. % Karl Marx

4. ¥ John Maynard Keynes

Question Number : 64 Question Id : 630680227229 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&S OO GG TN VBEBONETAL (D206 S 08 VTR, GITFAOTOR &I, SG OO chex)
AB0EY YD VFTOHO'ED &AL IO doIED?

Options :

1. % &8 NS

2. % DD DRI

3. % 50 30r8y)

4. ¢ 228 D §8)

Question Number : 65 Question Id : 630680227230 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The Second Five-Year Plan was also known as the

Options :

1. % Harrod-Domar Plan

2. % Bombay Plan

3. % Mahalanobis Plan

4. ® Sarvodaya Plan

Question Number : 65 Question Id : 630680227230 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOBS DOISY (DEFPED @ St @0Erdd.
Options :

1 % SEE-E06 FS

2. % 20023 T

3. ¥ DTOSDI TS

4. % HEB0H FS

Question Number : 66 Question Id : 630680227231 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs is/are correct regarding economic development in India?

I. 1948 : Planning Commission was set up.
II. 1950 : Formulation of Industrial Policy Resolution

Options :

1. % OnlyI

2. % Only II

3. % Both I and I1I
4. % Neither I nor II

Question Number : 66 Question Id : 630680227231 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
rEST30S 308 @8Ny O8 H0D0B0D & (80 ¢3S I/ OB IE/ HBID?

1. 1948 : [DFDS SON0 DTN TOHLDROA.
IL 1950 : X8 (308 DG BT EFHEDIS
Options :

1. % 135

2. % 11 37 badd

3. % 10805 1T e oy

4. 150 S 11 5°Q DA 570

Question Number : 67 Question Id : 630680227232 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

Prasanta Chandra Mahalanobis established the Indian Statistical Institute (ISI) in
Options :

1. ¢ Calcutta

2. % Bombay

3. % Surat

4. % Delhi
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Question Number : 67 Question Id : 630680227232 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

02
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

1972085 2505 TSR S 200D FE3VES YSVENT$ES (ISHQ F°DOTT.

Options :

1. ¥ o8
2. & 0200
3. 8% Qrde
4. % (%C:)

Question Number : 68 Question Id : 630680227233 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following Five-Year Plans of India with their actual growth rates.

Plans Growth Rates
I | First Plan 1| 3.6%
II | Fifth Plan 2| 4.8%
III | Tenth Plan 3| 7.6%
Options :
1. % 1-1, I-2, 11I-3
2. & 1-2, 11-3, 1II-1
3. % 1-3,11-2, 111-1
4. % I-1, 11-3, II1-2

Question Number : 68 Question Id : 630680227233 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2PEE30 00E); & S0B DoSHY VEFOSV) T TN DB T 2eDOSE.

ETPSeD SNAReIN
| | 200 preds 1|3.6%
| 26 Derds 2 1 48%
0 | Hoo s 3|7.6%
Options :
1. ¥ I-1, [1-2, 1I1-3
2. % 1-2,11-3, ITI-1
3. & 1-3, 11-2, ITI-1
4. & 1-1, 11-3, I1I-2

Question Number : 69 Question Id : 630680227234 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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‘Sambal' and 'Samarthya' are two sub-schemes under which of the following schemes of the Government of India?
Options :
1. % Mission Sagar
2. # Mission Karmayogi
3. ¥ Mission Shakti
4. % Mission Covid Suraksha

Question Number : 69 Question Id : 630680227234 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Q02S' OO 'Y 0T 23086 (2506 O TBNEY, &5 180 &) D5 (80 &) DO Eod-DHS EN?
Options :

1. % QA 0

2. % IS §8,387H

3. ¢ 02 38

4. % DAS FAE NS,

Question Number : 70 Question Id : 630680227235 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘PENCIL’ is an online portal for effective enforcement of the
Options :

1. % New Education Policy

2. % Child Labour Act

3. & PM Poshan scheme

4. % New India Literacy Programme

Question Number : 70 Question Id : 630680227235 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PENCIL' @38 Q D0PN050mT 295500 TWONEE 2.8 8BS ES.
Options :

1. % Qb A D0

2. ¥ 2 5008 Wd&O

3. % D)0 FAD HSEo

4. % 355 R0B0ST QLS (FITed

Question Number : 71 Question Id : 630680227236 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Socio-Economic and Caste Census (SECC) 2011 used how many deprivation indicators?
Options :

l.% 5

2.9 7

3.8 9

4. % 11

Question Number : 71 Question Id : 630680227236 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P225-e30% DB F0© 15895 (SECC) 2011 Q) §8eh QP DEDD G OBrAOD0E?
Options :
l.& 5
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2.9 7
3.8 9
4. % 11

Question Number : 72 Question Id : 630680227237 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following schemes has the objective of providing senior citizens, belonging to the BPL category and suffering from age-
related disabilities or infirmities, with physical aids and assisted living devices?

Options :

1. % Pradhan Mantri Vaya Vandana Yojana
2. % SAMPANN Project

3. # SACRED Portal for Elderly

4.« Rashtriya Vayoshri Yojana

Question Number : 72 Question Id : 630680227237 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

BPL ST°Q8 oA 08350 G0 D008 FEersen S 20srI$O & 237¢9Ice83) DAOHD eEJeSeHr50
2TBE DIPOS® FOSE HEBET) DO DITFONE 25 HBET ©0HOTHB0 & 180 IFPFOS’ B ©F 50?
Options :

1. % (DG 0(3 A 50 T3S

2. % SAMPANN [2r3§

3. % 0P>6 850 SACRED QS

4. ¥ O QOH STZ7B TresS

Question Number : 73 Question Id : 630680227238 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is one of the World’s longest span extra-dosed Cable Stayed Bridge and was inaugurated in September 2020?
Options :

1. ¥ Durgam Cheruvu Bridge

2. % Nayapul

3. % Chaderghat

4. % Purana pul

Question Number : 73 Question Id : 630680227238 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

808 e3¢5’ R0 202065’ BFB0E0TIB (DNOIOS' R e e9eh5085 TS e IY-BES €Y TS )&
Q800 0B DE?

Options :

1. ¢ 0G0 TEY 0B
2. % SOSrHO

3. % A0S

4. 8% QU J°O

Question Number : 74 Question Id : 630680227239 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many wildlife sanctuaries does Telangana have?
Options :

1. ® Five
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2. % Seven
3. % Nine
4. % Twelve

Question Number : 74 Question Id : 630680227239 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 A, SS5red HOGE 6 To(Eren Sar) on?
Options :

1. % 200

2. ¢ Qe

3. 8% SO

4. % DXYOD

Question Number : 75 Question Id : 630680227240 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following statement/statements is/are TRUE about Bhuvanagiri Fort?

A. Bhuvanagiri Fort is an ancient monument built on a monolithic rock fortress, about 47 km from the city of Hyderabad.
B. Bhubanagiri Fort is said to have been built during the reign of Mugla Vikramaditya, the 6th triangular dynasty of the Western
Chalukya dynasty.

Options :

1. % Only A is true

2. % Only B is true

3. % Both A and B is true
4. s Neither A nor B is true

Question Number : 75 Question Id : 630680227240 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2SS §E%0 H020HO0D & 80O TarseS DA/ Jes0?

A. 2SI § 9T 37RTerE SHTIE 47 8.90.0 Ard0oeS’ ¢5d) DEF T°ed 83 B0 HT°e5S 8%
Q) 0.

B. 2;53&6(656 8% P00 TrHES T°23503065°Q) 659 (8% T°2350%0 €900 InHE JEITQS s FeSS’

N80V DE0A Ten& .

Options :

1. % A SQ(ehad 230

2. % B 3@ D230

3. ¥ A OB B Boy A0

4. % A D80 B BO& 230 %)

Question Number : 76 Question Id : 630680227241 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following statement/statements is/are TRUE about tributaries of Krishna flowing in Telangana?

A. Bhima River joins Krishna River near Thangadigi.
B. Mandipalle Pedda Vagu joins Krishna River near Gurramgadda village.
C. Gowardhanagiri vagu joins Krishna River near Mandipalle village.

Options :

1. % Only A is true
2. % Only B is true
3. % Only Cis true
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4. % All A, B and C are true

Question Number : 76 Question Id : 630680227241 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : (
B0’ (D92PND) EJaF G0 HBODD &8 80 (HDELI/HELIOS’ AB/ND es0?

A. $0HGA SHE DS SE E9al SAS' EenN0d.

B. ([S0HE [MTe% QN0 sHOGIB DG 750 Yl EenNod.
C. D0BIB (P DD FIBS BB a3t EJaFIAES EenQod.
Options :

1. ¥ A S(ehad Q230

2. % B 3@ D230

3. % C AP d80

4. % A, B OO C @) D

Question Number : 77 Question Id : 630680227242 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following statement/statements is/are TRUE about Gross Enrolment Ratio (GER) of Telangana as on January 2022?

A. Rangareddy has the highest GER among all the districts at all three levels - primary, upper primary and secondary.
B. Ten districts have a GER greater than the state average at the primary level.

Options :

1. % Only A is True

2. % Only B is True

3. #% Both A and B is true
4. % Neither A nor B is true

Question Number : 77 Question Id : 630680227242 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

23358 2022 T°¢38 BOOMTED TZNEY AW SRTCN A (TR (S S065 TAGI®) (GER)E H0200H0D) & 80 &
DELSNDELSEN ABDOSE/BOID?

A. BPONE, [PADE ) ¢ 200050 SIS €9 S05edd FToNOES’ K> Q) Bere oy SOmTBG e¢hsBE GERD
DA &God.

B. [P0 o0’ TR D9 GER 0T HEA 288 E0365 GERS SO o) om.

Options :

1. ¥ A Sr(ehad N30

2. % B SX$ D230

3. 8 A 0805 B oy Q230

4. % A OO B BOGY Q230 5°¢0

Question Number : 78 Question Id : 630680227243 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Kamareddy region of Telangana is known for its production around 70 per cent of the farmers cultivate this crop.
Options :

1. % Cinnamon

2. % Sugarcane

3. & Coffee

4. % Cashew
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Question Number : 78 Question Id : 630680227243 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

B80S’ 55788 (P00 €558 03D 70 F°eH0 BSoe &2 D0 HOGTIEOES’ (DD TOLO&.
Options :

1. % J08EE)

2. ¥ Jeodo

3. % S"fg

4. % 233

Question Number : 79 Question Id : 630680227244 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the main festival with the epithet ‘pedda panduga’ celebrated in Telangana.
Options :
1. % Holi
2. % Diwali
3. % Dasara
4. % Jannmasthami

Question Number : 79 Question Id : 630680227244 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

D8 DO 9 DS BOOMETS BEHHZOD (DTS DN .
Options :

1. % 200

2. % QNP

3. ¥ Qo0

4. % 20°002a

Question Number : 80 Question Id : 630680227245 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which festival is known as ‘peerla panduga.’ in Telangana?
Options :

1. % Eid al-Fitr

2. % Muharram

3. % Lailat al-Qadr

4. % Ramadan

Question Number : 80 Question Id : 630680227245 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 DY DO @ O DO DEVTE?
Options :

1. 8 8H-&O-D5D

2. ¢ (80

3. % BSOS 9O-PO

4. % 302

Question Number : 81 Question Id : 630680227246 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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An important part of which festival is Rangam (prophecy)?
Options :
1. & SAMMAKKA SAARAKKA JAATHARA
2. % DUSSEHRA
3. ¥ BONALU
4. & HOLI

Question Number : 81 Question Id : 630680227246 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5000 (F°550) & DocHEES SPWPSTOS 2H0?
Options :

1. 8 028y B8y 23748

2. % AJT°

3. ¢ Soren

4. % 20O

Question Number : 82 Question Id : 630680227247 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Ramappa temple at Palampet in Telangana's Warangal had been conferred the tag of UNESCO World Heritage site in:
Options :

1. % 2018

2. % 2019

3. % 2020

4.+ 2021

Question Number : 82 Question Id : 630680227247 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

B0 SIS OO0 Hed T20D) B AH0, BN (UNESCO) (0TS aBdeh ¢ 105350
N80 FOAS 0I5B0 :

Options :

1. & 2018

2. % 2019

3. % 2020

4. % 2021

Question Number : 83 Question Id : 630680227248 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the List of temples in Telangana in List I and the District where they are located in List II:

Sl No. | List I-Temples Sl No. | List II-Location (District)
A, Surendrapuri Temple i Nirmal
B Bhadrachalam Temple | il Khammam
C. Sanghi Temple iii Yadadri Bhuvanagiri
D Gnana Saraswati Temple | iv Rangareddy
Options :

1. # A-ii, B-iii, C-iv, D-i
2. % A-iii, B-ii, C-iv, D-i
3. & A-iii, B-ii, C-i, D-iv
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4. % A-iii, B-iv, C-ii, D-i

Question Number : 83 Question Id : 630680227248 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
Do | &2 Boorrn dorociro @de || 67 ) &) tndod Berod adtolbod.

D Do) | DT |-BIPOOIFRD | DR Do)y | rdwE [I-Hdvo(@Rer)
A 200060 esooio | | DOLS
B. SEroeo Boroaio | i D)0
C. oD Bareoio iii OITTrd 000
D. &P D6 eseato | IV GO0
Options :

1. ® A-ii, B-iii, C-iv, D-i
2. % A-iii, B-ii, C-iv, D-i
3. & A-iii, B-ii, C-i, D-iv
4. ®% A-iii, B-1v, C-ii, D-1

Question Number : 84 Question Id : 630680227249 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct pair of district of Telangana and the award it won in the Deen Dayal Upadhyay Panchayat Satat Vikas Puraskar
(DDUPSVP) for 2021-2022:

Options :

1. ¥ Gouthampur in Bhadradri-Kothagudem district-Healthy panchayat category
2. % Nelluta in Jangaon district-Socially secured panchayat category

3. # Kongatpally in Mahbubnagar district-Water sufficient panchayat category
4. & Airpoor under Suryapet district-Clean and Green Panchayat

Question Number : 84 Question Id : 630680227249 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

202120226 BS SOFE G50 DOTTFONES Db VSR HBS)E (DDUPSVP)S® B3, TR, OB BOTPed
2 000N €938 B3NEY DB 2365 tHB0B0&:

Options :

1. ¢ SO-FSrBo BS' Fh0srB-e38 65 HoTTaes SG0

2. % BATO BEFST TWE- PSS 25(¢9¢5 EORS HoTraHed SGo

3. % 0TS I8 2SS’ FoNEIOD — A DY S 3BEEN K> HOTTONE SE0

4. % QXTSI B HOAS JONBIE- HIZSDS, SHDIIQ HoTTAHE

Question Number : 85 Question Id : 630680227250 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the Incremental progress rank of Telangana in the Round IV of Health Index for 2019-20?
Options :

1. # Fourth
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2. % Third
3. % Seventh
4. % Tenth

Question Number : 85 Question Id : 630680227250 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2019-20 °¢3 3875 o) B0 IVES' S0P NS (DE T°5050 D0ed?
Options :

1. % Jrem

2. ¥ e

3. % O

4. % DO

Question Number : 86 Question Id : 630680227251 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following statement/statements is/are CORRECT about Telangana in NITI Aayog’s ‘State Energy and Climate Index’
(SECI) Round-I report 2022:

A. Telangana scored 100 in “hours of electricity supplied to the agriculture sector”.
B. Under access, affordable, and reliable (AAR) energy, Telangana stood in the second place with a score of 60.4 under the Scorecard of
Larger States.

Options :

1. ¥ Both A and B are correct
2. % Only A is correct

3. % Only B is correct

4. s Neither A nor B are correct

Question Number : 86 Question Id : 630680227251 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Q& (NITI) esTBrh TS} “RE DS ©0& THE R0TEY’ (SECT) T'0&-1 AIEE 20228 Ber0mready H0220H0D &
808 O HEOJ/DELI) HBIB/HTID:

A. "H5S5 0D SOTFIE DS DBHT® TS BOLIEN" &R NerHocS BLOTTED 100 &F) B0 OO0,

B. 32350, @0C025°¢0 08350 D 50D (A58, PGS SHOAN BBOH20SO) (AAR) $§ 803, & orlare>
55065’ 60.4 )68 B0rPed Bossd S0 AOD0E.

Options :

1. ¥ A D83 B B0 OB

2 % A SFBD HBSS

3. % B AP0 OB

4. % A OO B BOKY OB 5°)

Question Number : 87 Question Id : 630680227252 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 2021 India’s largest landfill gas to compressed biogas plant was opened in
Options :

1. ¥ Hyderabad

2. #% Warangal

3. & Karimnagar

4. % Nalgonda
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Options :

1. ¢ 35°00°ered
2. % SSoKS
3. % 88056
4. % SOFFOCs

Question Number : 88 Question Id : 630680227253 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the District in List -I to the Major Crop Grown in List IT:

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 87 Question Id : 630680227252 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
2021 & 2rEHTF0 TBNE), @06 DS ers0&-0S R Hod o

D AP F0E S E0D0NDR0E.

S1No. | List I-District in Telangana | S1 No. | List II-Crop

A Adilabad i Palm Oil

B. Bhadradari Kothagudem ii Turmeric

. Jagtial iii Cotton

D. Jogulamba Gadwal v Paddy
Options :

1. & A-i, B-iv, C-ii, D-iii
2. & A-iv, B-i, C-iii, D-ii
3. & A-iv, B-ii, C-i, D-iii
4. ¥ A-iv, B-i, C-ii, D-iii

Question Number : 88 Question Id : 630680227253 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
Do -6 agro wdor |16° &0y DEEoTr DO Do 20

DD rdoe |-Boorred’D | HD adee |I-

o 2er 202§ Doty

A esdererd i &0 esoned

B. s Sonrto i ety

C ahore iii )

D. &bero 1o S iv 58
Options :

1. % A-i, B-iv, C-ii, D-iii
2. % A-iv, B-i, C-iii, D-ii
3. % A-iv, B-ii, C-i, D-iii
4. ¥ A-iv, B-i, C-ii, D-iii

Question Number : 89 Question Id : 630680227254 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the given infrastructure projects of Telangana in Decreasing order of Total Project Cost:

A. Singareni Coal Based Power Project
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B. Implementation of Mahatma Gandhi (Kalwakurthy) Lift Irrigation scheme in Mahaboob Nagar district*
C. Implementation of J Chokka Rao Lift Irrigation Scheme at Bommakur in Warrangal district
D. Implementation of Damerkunta lift irrigation scheme at Kataram in Karimnagar

Options :

1. ¥ A-B-C-D
2. % B-C-A-D
3. % D-C-A-B
4. % C-A-D-B

Question Number : 89 Question Id : 630680227254 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180 RS £ES BOOTTED ST°OE DV OSTE (B INB0 (FBEL S50 056 15006 @3 )08:

A. DOKTBES S &355°05 DO (B

B. 505720725 5i98 236’ 505587 oG (30 §508) DBPehed HHE0 e9sen
C. SEOHS B B5°5087%S B 157573, 0% DedFehed HHE0 e9en

D. $803K8E°Q 53S0 5E TPRSE0E) DEFSHE HHEO0 e9Hen

Options :

1. ¥ A-B-C-D

2. % B-C-A-D

3. % D-C-A-B

4. % C-A-D-B

Question Number : 90 Question Id : 630680227255 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the name of the software adopted by TSMSIDC for the process of Online Indenting, Distribution & Prescription-Audit of Drugs
& Surgicals, from Peripheral to State level?

Options :

1. ¥ e-Aushadhi Software
2. % e-Dawai Software

3. # e-Chikitsha Software
4. # e-Upachar Software

Question Number : 90 Question Id : 630680227255 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DBEAH 0B TR F°OW SBEO TAGTED HBAM F| ADET)D02)0H S HOZT &GE (HBAD FEEO SIS
S5 DE3E ST, DONES BTN (DIFRD) BB VN0 TONTE ¢3.00.00.0R.5.3.2 ©950DO0DS
PR DB DNEI?

Options :

1. ¥ 3-TAQ P30

2. % Q-COTON TPRI0

3. % 9-08e) FPIO

4. % Y-GID FPR0

Question Number : 91 Question Id : 630680227256 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the amount of monthly Pension given to the disabled people under the Aasara Scheme as on 315 March 2023?
Options :
1. % 500
2. % 1000
3. % 1500
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4. % 3016

Question Number : 91 Question Id : 630680227256 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

31 3528 2023 °¢38 &300° DHE0 80 BTSOMHZ QS LR DO VN0 DOeh?
Options :

1. # 500

2. % 1000

3. % 1500

4. 3016

Question Number : 92 Question Id : 630680227257 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following statement/statements is/are CORRECT about the ‘Rice Distribution Scheme’ of the Telangana Government
as on 31st March 2023?

A. In this scheme to arrive at the eligibility of the BPL families, the family income limit in rural areas has been increased to Rs. 1.50 lakh
and in urban areas to Rs. 2 lakh.
B. The land ceiling has also been increased to 3.5 acres of wet land and 10 acres of dry land.

Options :

1. % Only A is correct

2. % Only B is correct

3. % Both A and B is correct
4. % Neither A nor B is correct

Question Number : 92 Question Id : 630680227257 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

31 855°8)) 2023 °¢38 BOMTED (22568 S0 TBNEY, OO DOVES DHEO’ HBOD) RS £2BS 80 [(HELINDELIS’
DO/ OBIE?

A. 88 HHEOS’ TBEGS BDEY (BPL) AN &) S0E002re> 985 AT'OOITTRE, [Paded [0z $0€002)
ST DO BF. 1.50 ©F N, D& (PoTD EF. 2 ©F XD D00 283R0.

B. 2,8 000250 OB &0 )& 250 §77E e3 396 (1) 250 3.5 DET"EL SO De3 396 B 2570 10
DETOR DOTI0 B8A0A.

Options :

1. ¥ A S(ehadd OB

2. % B A& OB

3. % A 0835 B oty OB

4. % A OB B B0 OB 5°%)

Question Number : 93 Question Id : 630680227258 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How long did Hyderabad remain an independent princely state after India became independent from the British Empire in 1947?
Options :

1. % 6 months

2. # 9 months

3. & 11 months

4. % 13 months

Question Number : 93 Question Id : 630680227258 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
194765 (D3R (5572350 HOE 2T ESTIO D 5S0\50 FORS ST ¢eb 2TIT?eTE OSSO0 K £50(5 DO SO
€G08?
Options :
1. % 6 SO
2. % 9 SO
3.8 11 SO
4. ¥ 13 SO

Question Number : 94 Question Id : 630680227259 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many districts does the state of Telengana have as on 315 March 2023?
Options :

1. # 21

2. % 26

3.9°33

4. % 35

Question Number : 94 Question Id : 630680227259 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

31 58 2023 T°¢38 BOOMPE T RO D) 2BETEN ) ON?
Options :

1. % 21

2. % 26

3.933

4. % 35

Question Number : 95 Question Id : 630680227260 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Telangana region was part of Hyderabad state from 1948 to
Options :

1. % 1950

2. % 1952

3.9 1956

4. % 1959

Question Number : 95 Question Id : 630680227260 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO (o050 1948 DOG SB80 3078 TPl 0SS’ 2B GOBA.
Options :

1. % 1950

2. % 1952

3. % 1956

4. % 1959

Question Number : 96 Question Id : 630680227261 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
Which one of the following statement/statements is/are CORRECT about Telangana state formation?
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A. Telangana was formed out of Karnataka State reorganization Act.
B. Major cities of the State include Hyderabad, Warangal, Nizamabad, Nalgonda, Khammam and Karimnagar.

Options :

1. # Only A is correct

2. % Only B is correct

3. % Both A and B are correct
4. s Neither A nor B are correct

Question Number : 96 Question Id : 630680227261 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
S0P TR0 DBICHETIE H0220H0D 80 & 3°E5e300/0 OB SE/OBI)?

A. 8T8 T D)3D3530888a IO T3° §T° BOOMTED DS YROA.

B. T Q0SS [DGS SHTPe0 PN0°erE, SEOKNS, Qesesresrd, S0, 6320 805w $805%5.
Options :

1. % A SP(hadd OB

2. ¥ B 3P0 OBIA

3. % A 0805 B oty OB

4 % A 3000 B BOGT OBSD 59

Question Number : 97 Question Id : 630680227262 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following statement/statements is /are CORRECT about economic parameter of Telangana?

A. In 2022-23, the Per Capita Income (PCI) at current prices in Telangana is Rs.3.17 lakh.

B. In 2022-23, Telangana’s Gross State Domestic Product (GSDP) at current prices is Rs.13.27 lakh crore

C. The Agriculture and Allied sectors in Telangana achieved a year-on year growth in Gross Value Added (GVA) (current prices) of
11.9% between 2021-22 and 2022-23.

Options :

1. ¥ A, B and C are correct
2. % Only A and B is correct
3. % Only B and C is correct
4. % Only A and C is correct

Question Number : 97 Question Id : 630680227262 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B0 &0 HTWBE H0250H0D) 80 & ARAE/NBEEEN B IE/OTIN?

A. 2022-236", 0TS DN 9B 5 SO STPAN0 (2.2.5) 83.3.17 ©F .

B. 2022-23¢5", (005 53 S5& BOOMED T 5 AP TITBreh) (28.09.53.2) &, 13.27 ©F © §en

C. BOOTEIS Q) S5O0 DO €020 SOTPEN 2021-22 SDEOIM 2022-23 0658 WP Densd SB0D) (B.0.0) S
(S 3Ben) 11.9% °QE SR FPEOTQW.

Options :

1. ¥ A, B 08350 C OB

2. % A DO B X553 OB

3. % B 08O C &35°ehad OB

4. % A OO C 877533 OB

Question Number : 98 Question Id : 630680227263 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Arrange the following events in Chronological order (From First to last) during the course of formation of the state of Telangana:

A. Presidential order issued to implement Six Point Formula, providing some safeguards to Telangana.
B. 'Jai Telangana' movement for separate statehood to Telangana began.

C. Centre announced decision to initiate the process for formation of Telangana state.

D. The President gave time till Jan 23 to the state legislature to give its views.

Options :

1. # A-B-C-D
2. ¥ B-A-C-D
3. # C-D-A-B
4. % D-A-B-C

Question Number : 98 Question Id : 630680227263 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

BOOIPE) TR0 DS DNANOE’ 28AS 80 HD0NEIS SPOESTIT B0 (FNEE3 0 DB HBE0)
@9:08)0&:

A. BOOTTPERE §Q) 23O EODIAT 15 ) SPON0ES 50267 €90 TWOSTOR T a3 e cen 25°0 DK,
B. 80030 (D358 TR PO T80 '8 B0’ 535600 (PS80 DOA.

C. B0mred TaFQ), DBIOT (DEC0D (S0 0TTONE 3080 AGOSTR), Boldo (HEE30D0.

D. &°Q @A) BOANBONERE T°a) F°SDZEY 23338 23 SBEY T a1ded DO Q).

Options :

1. % A-B-C-D

2. ¥ B-A-C-D

3. % C-D-A-B

4. % D-A-B-C

Question Number : 99 Question Id : 630680227264 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the assets created by Telangana Government in List [ to the district in which they are created in List II:

sl List -I Socio-Economic Assets | Sl List -II District in which
No. No. | itis created

A *T-Hub 2.0° i Warangal

B Health City ii Hyderabad

C Telangana Institute of Medical | iii Adilabad.

Sciences) hospitals
D IT Towers iv Erragadda
Options :

1. ® A-i, B-ii, C-iv, D-iii
2. % A-ii, B-i, C-iii, D-iv
3. &% A-ii, B-iv, C-i, D-iii
4. ¥ A-ii, B-i, C-iv, D-iii

Question Number : 99 Question Id : 630680227264 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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DT 165° Boorr PIVEe FVFDYD inGo dee [18° 0 JoFold 2g-d asdonodl.

DD | ardar - i‘Pa:)J“a?,S—ejgs e520eD DD | ardoe -1l ead
2oy 202 %m%“&)ba)éa’) aer
A ‘S-d 2.0° [ Doories
B el ed i POTEES
C Beoorres @OROTS ed wéss | i IS
2D 53505y
D .65 056D v DO
Options :

1. % A-i, B-ii, C-iv, D-iii
2. % A-ii, B-i, C-iii, D-iv
3. % A-ii, B-iv, C-i, D-ii
4. ¥ Adii, B-i, C-iv, D-iii

Question Number : 100 Question Id : 630680227265 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the CORRECT pair of Minister and Ministry in the First Cabinet of Telangana State formed in 2014:
Options :

1. % P Srinivas Reddy : Agriculture

2. # Harish Rao : Home

3. # N. Narasimha Reddy : Irrigation and Legislative Affairs

4. % Mahender Reddy : Health

Question Number : 100 Question Id : 630680227265 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

201465° EHES BOMED TR J0HES 52EDTE S S0(E3 sHBAS0 00(Eeh § B2 TINEY DB 2365 HB0I0A:
Options :

1. ¥ . 3R BG: 557000

2. % PO T°): 200

3. % N. 3805 BG : De3rE0e 0805w FPOIDES $3§93FT°en

4. % X0 BG: &850

Question Number : 101 Question Id : 630680227266 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

Who among the following became the first speaker of Telangana Legislative Assembly in 20147
Options :

1. % Padma Rao

2. % Jagdish Reddy

3. ¥ S. Madhusudhana Chary

4. % E. Rajender

Question Number : 101 Question Id : 630680227266 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
201465 80D FIIIZIED BCIES RYEE De3?
Options :
1. % DT
2. % 200U DG
3. % Q. DTG T8
4. % R.0°B00

Question Number : 102 Question Id : 630680227267 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Industrial sector in Telangana achieved a growth of in 2022-23.
Options :

l. % 9.2%

2. % 10.5%

3. % 11.4%

4. % 12.3%

Question Number : 102 Question Id : 630680227267 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 a8 S0K0 2022-23¢° SYR FHODOS.
Options :

1. % 9.2%

2.9 10.5%

3. % 11.4%

4. % 12.3%

Question Number : 103 Question Id : 630680227268 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana’s Worker Population Ratio (WPR) for the 15-59 age category stood at in 2020-21.

Options :

1. % 59%

2. 9% 62%

3.8 67%

4. % 69%

Question Number : 103 Question Id : 630680227268 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2020-2165 15-59 ¥ STIE TOAS B0 562500 287725 D) (CH205.2).es5) )
Options :

1. & 59%

2.9 62%

3. % 67%

4. % 69%

Question Number : 104 Question Id : 630680227269 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which among the following is the most prominent and prevalent soil type in Telangana?
Options :
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1. % Cracking Clay Soils
2. % Shallow Soils
3. ¥ Red gravelly Soils
4. % Alluvial soil

Question Number : 104 Question Id : 630680227269 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

806 ¢3S’ B0 €9¢550¢H (N BN (NN T B350 DE?
Options :

1. % HHWE 2008 e Teren

2. 8 QS Jen

3. ¢ (S¢S 088 Jen

4. % 2,0 I

Question Number : 105 Question Id : 630680227270 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following statement/statements is/are CORRECT about employment at Telangana?

A. The unemployment rate in the state has been on a declining trajectory.
B. According to the Periodic Labour Force Survey (PLFS), in 2020-21, Telangana had an LFPR of 65.4%, as opposed to 58.4% at the
national level.

Options :

1. % Only A is correct

2. % Only B is correct

3. % Both A and B is correct
4. s Neither A nor B is correct

Question Number : 105 Question Id : 630680227270 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B0 Gard8 Ho0HOR) & 808 P S0/TIIOS DO/ OB IE/DBID?

A. TR0 DBHEsHE B SHS0O HE30d.

B. Sercdien 2828 OB S (DOOSTEE B8 8. 9B £-2.08.99.00) (DSB0, 2020-2165° 2326305 0N’ 58.4%8
BP0 BOOMEF 65.4% LFPR §OA &0 &.

Options :

1. % A S(add OBIA

2. % B3PS OBIA

3.¥ A 50805 B B0 DB

4 % A SO0 B BOGT SBSD 5

Question Number : 106 Question Id : 630680227271 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following statement/statements is/are CORRECT about Bhongir Fort?

A. It is a massive structure erected by Chalukya ruler, Tribhuvanamalla Vikramaditya VI and the fort is named after him.
B. Initially it was called Tribhuvanagiri, renamed later as Bhuvanagiri and eventually it has become Bhongir Fort.
C. The fort that is encircled in a moat has underground chamber that is believed to be connect Ramappa Temple located 50 km away.

Options :

1. % Only A and B
2. % Only Band C
3. % Only Aand C
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4. % A,B and C are correct

Question Number : 106 Question Id : 630680227271 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : (
2SS § HBO0NDS &2 80 E550/@6S” DE/DD OB SE/BI?

A. RO TS PB0EN (832563360 D35S VI T 82013223 23°8 S0 S0805m &8 S50 @95 DK
2EFED.

B. 30SET A |BHSSNE 09 DOTIE, S5 2SR 2 SFT°IH SO DSBE A 2HSSAB Searr
r80&.

C. 305830 THENSNEDES & §ereS’ FE0K0 G0B, B 50 km BTS00’ €d) TN e3OOTE
RNOTAOIDGB0 e80.

Options :

1. ¥ A OO B S5°(¢h30

2. % B OO C Sr(ebad

3. % A DO C S(ehadd

4. % A, B AW C OB

Question Number : 107 Question Id : 630680227272 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following statement/statements is /are CORRECT about Ambedkar Overseas Vidya Nidhi, SC Development Telangana
Govt.?

A. Income Criteria: Family (Student and parent) Income should be less than 10 lakhs per Annum from all sources.
B. Countries Eligible: USA, Canada, Germany, France, UK, Singapore, Japan, South Korea, Australia and New Zealand.
C. Upto 20 lakhs or as per admission letter which ever is less. One way Economic ticket and Visa charges.

Options :

1. ® Only A and B is correct
2. % Only B and C is correct
3. % Only A and C is correct
4. % A, Band C is correct

Question Number : 107 Question Id : 630680227272 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
SC @398 FEE SO (D206 $0 TBNE), 90236520 DBB D5 A (29023535 8,583 Dees ) MHOODS &s
806 85N/’ DE/DR HBIE/DBIN?

A. &TPO% [DXTETEN: @)Y 0TI O F0EN02) (DTS S0BAM S$D0|EEN) TR0 DN TS 10 ©F.©
0B 550y Gowd.

B. @3¢ o> B3°en: USA, 38a , 3539 , [3Q) , UK , DoHY D , 8 , 58,60 F805r , &3 OGS S08a50
Arseroly.

C.20 ©F 3380 B @GNS BD (DGO - DA 5038 OB €3 BN, ITE8 B eI H0220H0D)
AT 208 T8 DETNE €3BET NN D den.

Options :

1. % A OO B 3765330 OB

2. ¢ B 0805 € Xehadd OBID

3. % A DO C S(¢ha3d OB

4. % A, B AW C OB

Question Number : 108 Question Id : 630680227273 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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, the earliest known rulers of the region sowed the seeds of independent and self-sufficient village economy, the relics of which
can be felt even today.
Options :
1. & Cholas
2. # Cheras
3. # Pandyas
4. ¥ Satavahanas

Question Number : 108 Question Id : 630680227273 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

38 53¢3 €955FL e EADNSY 5505 BN D AN HeYR (o3 @30 555080” Dezeen ¢3S & (050
AB0EY BNERNEHES rerdvoen )

Options :

1. % Sgoen

2. % DO°EN

3. % rOCSeN

4. ¥ FAIPDEN

Question Number : 109 Question Id : 630680227274 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Whose rule led to the evolution of dance forms such as Perini Sivatandavam?
Options :

1. ¥ Kakatiyas

2. % Pandyas

3. # Vakatakas

4. % Ikshvakus

Question Number : 109 Question Id : 630680227274 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D38 O OES DITOCHH0 D03 dgehs EFT® HOETITIE TEBVOE?
Options :

1. ¢ P53 a50en

2. % O

3. % 550D

4, % QT $50eN

Question Number : 110 Question Id : 630680227275 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana writer Pattipaka Mohan has been bestowed with the Sahitya Akademi Bal Sahitya Puraskar-2022 for his poetry .
Options :

1. % Talladilluthondi Na Thalli Telangana

2. ¥ Baalala Taataa Baapuji

3. # Telanganeeyulam

4. % Telangana Geetham

Question Number : 110 Question Id : 630680227275 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
B0 STI00E HDBIE JrsTPLY €95 TZNE), D5 EQ A8 s s €057Csad B 237> rarehs

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 51/74



29/05/2023, 11:02 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

DB B0-2022 ©DODOK.

Options :

I % SOOGS0 ° S SOOMEd
2. ¥ PO T 2

3. % SBOOTPEIANDO0

4. % B0mre Hedo

Question Number : 111 Question Id : 630680227276 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Five persons S1, S2, S3, S4 and S5 are sitting in a row facing towards north (not necessarily in the same order). S1 is second to the left of
S4. Two people are sitting between S3 and S5. No person is sitting to the right of S5. How many persons are sitting between S4 and S2?

Options :
1.0
2.8 1
3.8 3
4. % 2

Question Number : 111 Question Id : 630680227276 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S1,S2, 3, $4 0BG S5 e NS 9550eN 2.8 SBDES’ BT SNWOTP ESd I (AT (50065 &omd )
€930B0 ). S4 TINEY e DY BOBS S0 ST S ITL . S3 0O S5 © D35S VB H58en
BE )L E0. S5 TB0EY 0 DS DeSE S8 YT, $4 BN $2 © IS JOeh DO SN ET 0 ™) B0?
Options :

1.¥0

2. % 1

3.% 3

4. % 2

Question Number : 112 Question Id : 630680227277 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Six boys F, G, H, I, J and L are sitting around a circular table facing towards the centre. I is the third to the left of F. J and H are
neighbours of I. L is to the immediate right of J. Who are the neighbours of G?

Options :

I.¥Hand F
2. % Hand L
3. % Jand F
4. % Land F

Question Number : 112 Question Id : 630680227277 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

F,G,H, L J 08050 L e @3B0 €23°)00e0 28 S9@°5e8 T2 0P SO(EPE)Snmorr §3°¢d )am) 0. F 80 o)Chedd
S 0¢85 D0 T E5°50)a), 8. T s0BO50 H @ T TB0E), FE00aeSd. T B308) 5869 0B D) L E5E0 7w, ¢,
G A30E) AN DB Hrdd Jaoe) &0?

Options :

1. ¥ HOBX3W F
2. % H8OW L
3. % J DO F
4. % L DB F
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Question Number : 113 Question Id : 630680227278 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If today is Thursday, then what will be the day after 30 days?
Options :
1. % Thursday
2. % Sunday
3. ¢ Saturday
4. % Friday

Question Number : 113 Question Id : 630680227278 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

283 &2 NGO 0N, 30 T2 S0° L o) Bes® S NOE?
Options :

1. % &S0

2. 8 8OB0

3. ¢ 3Q°80

4. % HE>B0

Question Number : 114 Question Id : 630680227279 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Raman is standing in a row. His rank from the start of the row is 26th, and his rank from the end of the row is 27th. How many total
people are there in the row?

Options :
1. & 53
2.9 52
3. % 51
4. % 54

Question Number : 114 Question Id : 630680227279 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

T°0& 28 SIS DB &) (0. B (BPB0250 0B €965 S0 26696 SHBASN B DSB 0B €95
TS50 2758, NS SBDS INB0 D0 DO Gy Ed?

Options :

1. % 53

2.9 52

3. % 51

4. % 54

Question Number : 115 Question Id : 630680227280 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which day of the week was 3™ August 20132
Options :

1. ¢ Saturday

2. % Sunday

3. ® Monday

4. % Friday

Question Number : 115 Question Id : 630680227280 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
3 &30 201305 B0 & Fex S N0E?
Options :
1. ¥ 3Q°80
2. & sQIB0
3. 8% &G0
4. % H B0

Question Number : 116 Question Id : 630680227281 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The diagram given below shows the number of persons in each area.

Graduates

43

e {14
Mal';/ { 13/

19

——"Young

Arrange the following in the decreasing order of their numbers?
I. Males

II. Graduates

III. Young
Options :

lI.& I>11>1
2. I>11>1
3w II>1>110
4. % 1>11>1II

Question Number : 116 Question Id : 630680227281 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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& S0t RHGRED D0 PA Frosed'D BPHO VoY BFYB0A.
Graduates

43

N (14
Mal::/ { 13/

19

——"Young

Males - &ydoden; Graduates - DOTEeD; Young - cdwode
& 308 98D T8 Hopfe P BB LR E30E’ BA6N0d?
. dndodoen

Il Derzsgren

. cdosded
Options :
1.& I>11>1
2.9 1I>111>1
3. lI>1>110
4. % 1>11>100

Question Number : 117 Question Id : 630680227282 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to
be at variance with commonly known facts, decide which of the given conclusions logically follow from the statements.

Statements:

1. Some A are B.
II. Some B are C.
II1. All C are D.

Conclusions:

1. Some B are D.
II. Some D are B.
III. Some A are D.

Options :

1. % Both conclusions I and II follow.
2. % Both conclusions II and III follow.
3. % Both conclusions I and III follow.
4. % All conclusions follow.

Question Number : 117 Question Id : 630680227282 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

QS 52 (DELINOD BTN BT 2P(HBT IBS0R. (DELS” B £2BS DIFTTE0 S0 8OV
TITOS DBENSEEN EADODINIEZE, FAH0DD HOKEBOD), BH G BT DA/ (HELXOD &8y o
DB OE /T APoN0I0B.

[PSTATNIOW:
L §J) Ay Bew.
I1. §0) B e C ew.
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1. @) C e D ew.

ST

1. §Q) Ben D e.

I1. §Q0) D e B ew.

L §Q) A 0 D e.

Options :

1. ¢ S0 [ OO0 I BOGT 90800
2. % ST 1 SHBOSW I BOCEF €9:DDET o0
3. % S0 [ DO I BO® OB 0N

4. % ) STV @NOOI AW

Question Number : 118 Question Id : 630680227283 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following array of letters and digits.

A4B6C82TU603NIISJ6X

How many numbers are preceded by a vowel when counting from left to right?
Options :

l.& 5

2.4

3.&3

4. % 6

Question Number : 118 Question Id : 630680227283 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AN RS §2RS @8 TN AN 908> (B3 HBKS0I0R

A4B6C82TU603NI9ISTJ6X

560 OG AR BEPODDNY IR ) 90T &3°¢3 0D 9N NIOD EOR &™) 0N?
Options :

1.#% 5

2.4 4

3.% 3

4. % 6

Question Number : 119 Question Id : 630680227284 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The heights of Jai, Shivam, Shyam, Rohan and Raman are compared. The height of Shyam is neither more nor less than the height of Jai.
The height of Jai is less than only three persons. The height of Raman is more than that of Rohan but less than that of Shivam. The height
of how many persons is more than that of Shyam but less than that of Shivam?

Options :
l. % 3
2.8 1
3.8 0
4.2

Question Number : 119 Question Id : 630680227284 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Z, 350, T4, T3S 0805 TZNDSS O D YBID. T4 D) B D) 0T DBV 5°R) B 9808 5°Q
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5760, B ) B0 PG 553V 0T 65078, TDR D) FTQ E0TD DBV 5°Q) DI 0TI 98078 DO DO
5530 ) 350 0T DBV 5°R) P00 0T $80).5 EOLNOE?

Options :

l. % 3

2. % 1

3.% 0

4.2

Question Number : 120 Question Id : 630680227285 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The speeds of six bikes B1, B2, B3, B4, B5 and B6 are compared. No two bikes have the same speed. The speed of B6 is more than that
of only three bikes. The speed of B4 is more than that of B2 but less than that of B6. The speed of B3 is not less than that of BS. The
speed of B2 is not the least. If the speed of B5 is not less than that of B2, then which of the following pairs of bikes have more speed than
B4?

Options :

1. ¥ B5, B3
2. % BI,B5
3. % B2,B3
4. % B6, Bl

Question Number : 120 Question Id : 630680227285 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bl, B2, B3, B4, B5 508050 B6 @3 €38 ZBE0e ST, FNIBERE. & BOK BEEL 2,8 JH0 &0, B6 T3E) S50
B350 S07°¢ BE 0T B0y, B4 3650 B2 E0T) Q5035 5°Q B6 S0T ¢680).8. B3 350 B5 0T 65038 5°¢%0. B2 S50
55065 55020 5°CN. 28R B5 (50 B2 0T 58009 S0 e3, &3 (8OO o) 2365 2350 B4 0T Q8009 ), $OA
€5 ON?

Options :

1.+ B5, B3

2. % Bl,B5

3. % B2,B3

4. % B6, Bl

Question Number : 121 Question Id : 630680227286 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a certain coding language, QUILT is coded as PTJKU. Match the following words with their respective codes on the
basis of the above given code language?

Words Codes

I DAYIS | 1| QQPTE

II PROUD

I3

EZZHT

11 CAPTY 3 DZQSZ

Options :

1. % 1-2, II-1, 111-3
2. &% 1-2,11-3, -1
3. & [-3, II-1, III-2
4. & 1-3,11-2, I1I-1

Question Number : 121 Question Id : 630680227286 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

8 8% £aoh 20’ QUILT 038 PTIJKUm £E Sabherdosd. DD WND E'& 2 prGorr & S08 HoreR) aved
do00dd EEos asd6S0d?

DTFeD g&en
| | pavis | 1| aaptE
n| proub | 2| EzzHT
m| capty | 2| bpzasz

Options :

1. % 1-2, II-1, 1I1-3
2. &% 1-2,11-3, II-1
3. & [-3, II-1, III-2
4. & 1-3, 11-2, I1I-1

Question Number : 122 Question Id : 630680227287 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, VERBAL is coded as REVLAB. Which of the following pairs of Word : Code are correct on the basis of the
above code language?

I. RELATE : LERETA
II. BASINT : TNISAB
II1. COLOUR : LOCRUO

Options :

1. & OnlyIandII
2. % Only I and III
3. % Only II and IIT
4. % I, 1T and III

Question Number : 122 Question Id : 630680227287 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 Q0N §& 27N, VERBAL @93 REVLABT §6& TO00R08. DS 8%.8), 86 270 escrdomr &2 (808 23¢6ereS
550 : §6 DI HBSD?

I. RELATE : LERETA
II. BASINT : TNISAB
III. COLOUR : LOCRUO

Options :

1. % 108050 1T $35°(¢had

2. % 1 0005 1T S3°(¢had
3. % 11308050 1T 33°(d o
4, % I, 11 HOASY 11T

Question Number : 123 Question Id : 630680227288 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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A person starts from point A and walks towards north for 16 km to reach point B. From B, he takes a right turn and walks 12 km to reach
point C. From C, he takes a left turn and walks 4 km to reach point D. From D, he takes a right turn and walks 3 km to reach point E.
Which of the following statements are correct?

1. Distance between A and E is 25 km.
II. E is towards the north-east of A.
III. E is towards the south-west of B.

Options :

1. & Only I and III
2.% OnlyIand IT
3. % Only IT and IIT
4. % I, 1T and III

Question Number : 123 Question Id : 630680227288 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 3558 QN0 A OB INAB &SB0 JT 16 km SGD "000ES BE THE0E:. B Q0EG, 96530 S0 rend)
ST 12 km SED FON0E C & TEEV0EFCH. C DO sl eV 3NEVD 4 km A FaN0ES DS
TEE0ETE. D 0B, €965 S0 eV BNZVA, E P08 TEHESEE 3 km SETC. &2 (808 F¢3S° D&/
DD OBIE/ HBID?

L A 0805 E 8¢5 ¢3S0 25 km
11 A § 883°350 S E &08.

111 B § S&0e3 I E &Od.
Options :

1. 8 108050 I S5°(¢had

2. ¢ 1308050 1T S5 ehad

3. % 11308050 1T 3375

4. % 1,11 08w I

Question Number : 124 Question Id : 630680227289 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the fifth letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster and
fourth letter-cluster is related to third letter-cluster.

PSN:SWS:NJP:QNU :: ILZ : ?
Options :
1. & KOF
2. % LPE
3. % LPF
4. % KOE

Question Number : 124 Question Id : 630680227289 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B0 €98 S0-0a3057%°0 B3 €98 B0-0305738 08N T°6d €98 S0-DeTT0 o303°C6 €98, B0-DeTedtIE
500NN DHOMTS 99385 8. E0-00IIE H0D0HOD DONED oSS,

PSN:SWS:NJP:QNU :: ILZ: ?
Options :
1. & KOF
2. % LPE
3. % LPF
4. & KOE
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Question Number : 125 Question Id : 630680227290 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A group of letter-clusters is given. The letter clusters of the group are related to each other by some logic/rule/relation. From the given
alternatives, select the group of letter-clusters that does NOT follow the same logic/rule/relation as the given group.

(NOP, RST, VWX)
Options :

1. & (ALP, EPT, ITX)
2. % (BSJ, FWN, JAR)
3. % (MKT, QOX, TSB)
4. % (TDN, XHR, BLV)

Question Number : 125 Question Id : 630680227290 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

28 €93 8- (1) RSB0, ()R €93.8 Hadarssten §oes ¢)0/Q0NN0/D000 & LT
23TEE3 50250650 ¥ GOETrAN. B FDAS (D&T°5e35°) AT DO, D) DNFT0 S T $8),0/A0NN0/
002057, B0 €F B-D305°55 ) Dsr*) DOTHEOR.

(NOP, RST, VWX)
Options :

1. % (ALP, EPT, ITX)
2. % (BSJ, FWN, JAR)
3. % (MKT, QOX, TSB)
4. % (TDN, XHR, BLV)

Question Number : 126 Question Id : 630680227291 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A question is given, followed by two statements labelled I and II. Identify which of the statements is/are sufficient/necessary to answer
the question.

Question : What is the value of A?

Statements:

.L3A+9=0

. A3-8=0

Options :

1. # The question can be answered by using one of the statements alone but cannot be answered by using the other statement alone.
2. ¥ The question can be answered by using either of the statements I or 1I alone.

3. ® The question can be answered by using both the statements together but not by either statement alone.

4. % The question cannot be answered even by using both the statements together.

Question Number : 126 Question Id : 630680227291 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
28 (%), T @IBY I HOOM I @A D&Y 322D BO (DEEISEN 9 500N, (D) B0 DSPGEI0 R ST
Q [DEEI/e HBFe /SIS TIS’ 180308.

(9%, 1 A DeND D0OeSH?

HEESe:
L3A+9=0
II.A3-8=0
Options :
1. % (DEOSS 2,80 IS0 GOTIFAOIGBO T ST° (HFLE DSTETS0 VS £5T0) & L0FE (DI S(e55
ENAITROTIR0 T3° ST DSATET0 QS SSK.
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2. ¥ 1B 11 [HEOIS BT &HBIAOIHO0 T°ST° (HF), 80 DSTES0 B3 $52%0.).
3. % DO (DEEISOX EO SHTPROIR0 &° ST° (9%, 80 DSTETO0 QN L5700 ) 5°Q) 208, 18IS & T° 5°¢%.
4. % BOCR (DEEIDOX D EDTBINOIL0 T3° $T° S°EE° (%), 50 QDSPGEI0 RS 30,

Question Number : 127 Question Id : 630680227292 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A question is given, followed by two statements labelled I and II. Identify which of the statements is/are sufficient/necessary to answer
the question.

Question : What is the ratio of x : y : z?

Statements:

Lx:y=1:3

I.x:z=3:4

Options :

1. ® The question can be answered by using one of the statements alone but cannot be answered by using the other statement alone.
2. % The question can be answered by using either of the statements I or II alone.

3. % The question can be answered by using both the statements together but not by either statement alone.

4. % The question cannot be answered even by using both the statements together.

Question Number : 127 Question Id : 630680227292 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
28 (%), A @IBY I OO I @A D&Y 322D BO (DEEIEN 9 500N, (%) B0 DS I0 @6 ST
Q [DEEI/e HBFe T/ TIS’ 180308.

(9%) : x 1y : 2 BBVEY DAY DOeh?

RSIAINISWE

Lx:y=1:3

II.x:z=3:4

Options :

1. % (DEOSS 2,80 IP(H0 GOTIFAOIG0 T ST° (HFLE DSTETS0 B £9T0) T LFE (HEEIS S(e55
ENAITROTIR0 T° ST DSATET0 QS SSK.

2. % 1 B 11 [HEOIS BIATT &HBIAOIHO T°ST° (3,50 DSTES0 @ $52%0.).

3. ¥ BO (DEEIS O &ITITAOTIR0 T3 ST° (D)0 DATFTTEI0 QN 53t Q) 2087, (58S & T° 5°¢0.

4. % BOCR (DEEIDX O DTRG0 &3° $T° E5°CF° (%), 50 Q3G 0 R 630,

Question Number : 128 Question Id : 630680227293 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the given statement and courses of action carefully. Assuming that the information given in the statement is true, even if it appears
to be at variance with commonly known facts, decide which of the given courses of action logically follow(s) from the statement.

Statement : Accidents due to potholes on roads have risen in the last two years.

Courses of action:
A. The authorities should appoint a team to tackle the problem and find its solutions.
B. People should not use vehicles and only walk on roads.

Options :

1. % Only A follows.

2. % Only B follows.

3. % Both A and B follow.

4. % Neither A nor B follows.

Question Number : 128 Question Id : 630680227293 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0
Correct Marks : 1 Wrong Marks : 0

RS SDAS (HEEISX0 0OAN Eyersed (X772 23 (ST IS0, PGS0 SOV QTS DZIENS) €D
EDD0DINYEIE, (DEEISES” QXSG DSFPTTB0 FRSOM DBHEF0D, 1DFEIS 0 &8 E0T O ET5ed (500/eD
N80T’ APooH0B.

(98 : Ked BOTBIOM FCE2 MHOHE SPBEIOMT [e3TTTEN DEVY IO SON.

s (520 :

A. D005 HDBNYLO0IETRE 0O DALY TN ENTIETRE 9O EEW 2,8 WHOTTR)), AADNOTTE).
B. 19230 SR GdB3TA0TIEITHED SO0 F'E2 3775530 585 E.

Options :

1. ¥ A S5 90BN,

2. % B ST 900000,

3. 8 A 805 B BOT 9008 0.

4. % A S BT B TR D& 0080,

Question Number : 129 Question Id : 630680227294 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
The table given below shows the marks obtained by 4 students in three subjects.

Subjects

S1 S2 | S3

Maximum marks 100 | 200 | 300

Aman 96 | 136 | 224
Kamal 82 | 148 | 256
Sharan 88 | 154 | 242
Mayank 74 | 128 | 286

Which of the following is the correct order of the total percentage marks scored by each student?
Options :
1. ¥ Mayank > Kamal > Sharan > Aman
2. % Mayank > Kamal > Aman > Sharan
3. #% Kamal > Mayank > Aman > Sharan
4. % Kamal > Mayank > Sharan > Aman

Question Number : 129 Question Id : 630680227294 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ 0A508 > 80O > 565 > 0D
2. 8% NASP08 > ENS > 0N > 85
3. % 30O > A0S > @S > 85
4. 8 80O > A0S > FSH > @00

Question Number : 130 Question Id : 630680227295 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The bar chart given below shows the amount of wheat produced (in tonnes) by 5 states of the country.

The second bar chart given below shows the land under wheat production (in hectares) in these 5 states.

8300
5600
4000 4300
H 3100
51 52 53 54 55
414
35
53

Yield = (Wheat production/Area under wheat production)

Which of the following is the correct order of the yields of the states?

Options :
1. % S5>82>84>83>SI
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2.%85>584>82>S1>83
3. % S5>854>82>S3>S1
4. % S5>S2>S4>S1>8S3

Question Number : 130 Question Id : 630680227295 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
8D RdAH e o°§ B308°D 5 mgﬂe.n &343 313 Heodn 68430 (0d0) o) drpdoos.

i
5600
o H 4300
H 3100
51 I 52 | 53 I
Brod R30AH Botsd a6 o°§ & 5 mgugg‘ Foded edy8 323 2rd (rpgd’) dripdocsd.
E
H H 95
53

Brdeds = (Feoad s a/f o &ayd 3oy dgo)
& 208 78S mgw Brbere e HFD Yo D8?

Options :

1. % S5>82>S4>S3>S]
2.% 85>84>82>81>83
3. % S5>8S4>8S2>S3>SlI
4. % S5>82>854>S81>8S3

Question Number : 131 Question Id : 630680227296 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

Ask the right question, get right answer.
Options :

l.% a

2. % an

3. ¢ the

4. % No article
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Question Number : 131 Question Id : 630680227296 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

Ask the right question, get right answer.
Options :

1. % a

2. % an

3. % the

4. % No article

Question Number : 132 Question Id : 630680227297 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

administration has dispatched relief materials to impacted communities.
Options :
1. ¥ The, the
2. % A, an
3. % The, a
4. & A, the

Question Number : 132 Question Id : 630680227297 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

administration has dispatched relief materials to impacted communities.
Options :
1. ¥ The, the
2. % A,an
3. % The, a
4. % A, the

Question Number : 133 Question Id : 630680227298 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

This was a disguised swimming pool area with dry ice, giving a very nice effect.
Options :

1. & clever

2. % cleverly

3. #& cleverer

4. % cleverest

Question Number : 133 Question Id : 630680227298 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
Select the most appropriate option to fill in the blank.

This was a disguised swimming pool area with dry ice, giving a very nice effect.
Options :
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1. % clever
2. ¢ cleverly
3. # cleverer
4. % cleverest

Question Number : 134 Question Id : 630680227299 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

If you find things are getting too difficult, walk away 15 minutes, then come back and try again.
Options :

1. # for about

2. % off

3. & from about

4. % upon for

Question Number : 134 Question Id : 630680227299 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

If you find things are getting too difficult, walk away 15 minutes, then come back and try again.
Options :

1. ¥ for about

2. &% off

3. % from about

4. % upon for

Question Number : 135 Question Id : 630680227300 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
From the four sentences given below, identify the sentence(s) with a grammatical error.

A. My son is pursuing a course on your university.
B. Happiness happen on the way to fulfilment.

C. I have forgotten your name.

D. Please forgive me for my mistakes.

Options :

1. % Only A and B

2. % Only Band C

3. % Only Aand D

4. % Only B, Cand D

Question Number : 135 Question Id : 630680227300 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
From the four sentences given below, identify the sentence(s) with a grammatical error.

A. My son is pursuing a course on your university.
B. Happiness happen on the way to fulfilment.

C. I have forgotten your name.

D. Please forgive me for my mistakes.

Options :

1. ¥ Only A and B
2. % Only Band C
3. % Only Aand D
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4. % Only B, C and D

Question Number : 136 Question Id : 630680227301 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
From the four sentences given below, identify the sentence(s) with a grammatical error.

A. I force my eyes to meet his gaze despite of comparing him to my favourite guidance counsellor.
B. I study math more harder than you do.

C. The most successful people are the more productive people.

D. I will not be riding anything for a long time.

Options :

1. % Only B and D

2. % Only C

3. % Only Aand D
4.+ Only A, B and C

Question Number : 136 Question Id : 630680227301 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
From the four sentences given below, identify the sentence(s) with a grammatical error.

A. 1 force my eyes to meet his gaze despite of comparing him to my favourite guidance counsellor.
B. I study math more harder than you do.

C. The most successful people are the more productive people.

D. I will not be riding anything for a long time.

Options :

1. % Only Band D

2. % Only C

3. % Only A and D

4. % Only A, B and C

Question Number : 137 Question Id : 630680227302 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence with the correct usage of the simple past tense.

A. Divya went to the grocery store yesterday.
B. Last year, I bought a car.

Options :

1. % Only A

2. % Only B

3. % Both A and B
4. #% Neither A nor B

Question Number : 137 Question Id : 630680227302 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence with the correct usage of the simple past tense.

A. Divya went to the grocery store yesterday.
B. Last year, [ bought a car.

Options :

1. % Only A

2. % Only B

3. % Both A and B
4. % Neither A nor B
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Question Number : 138 Question Id : 630680227303 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence with the correct usage of the present perfect tense.

A. Many scientists have studied your theory.
B. She has been lying to you since 2013.

Options :

1. % Only A

2. % Only B

3. % Both Aand B
4. s Neither A nor B

Question Number : 138 Question Id : 630680227303 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence with the correct usage of the present perfect tense.

A. Many scientists have studied your theory.
B. She has been lying to you since 2013.

Options :

1. ¥ Only A

2. % Only B

3. % BothAand B
4. % Neither A nor B

Question Number : 139 Question Id : 630680227304 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

Sam doesn't like to eat chocolate, ?
Options :

1. % dohe

2. % didn't he

3. % will he

4. % does he

Question Number : 139 Question Id : 630680227304 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
Select the most appropriate option to fill in the blank.

Sam doesn't like to eat chocolate, ?
Options :

1. % dohe

2. & didn't he

3. % will he

4. % does he

Question Number : 140 Question Id : 630680227305 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

There is a beautiful museum on that street, ?
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Options :
1. & isn’tit
2. % isn’t there
3. % is there
4. % does there

Question Number : 140 Question Id : 630680227305 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

There is a beautiful museum on that street, ?
Options :

1. & isn’tit

2. % isn’t there

3. @ is there

4. % does there

Question Number : 141 Question Id : 630680227306 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
Select the correct passive form of the given sentence.

Rohan has called the driver.

Options :

1. % Driver has called by Rohan.

2. % The driver is being called by Rohan.
3. % The driver was called by Rohan.

4. ¥ The driver has been called by Rohan.

Question Number : 141 Question Id : 630680227306 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct passive form of the given sentence.

Rohan has called the driver.

Options :

1. % Driver has called by Rohan.

2. % The driver is being called by Rohan.
3. % The driver was called by Rohan.

4. ¥ The driver has been called by Rohan.

Question Number : 142 Question Id : 630680227307 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that expresses the given sentence in passive voice.

The industry will launch some new products.

Options :

1. % Some new products would be launched by industry.

2. % Some new products will be launched by the industry.

3. # Some new products have been launched by the industry.
4. % Some new products would been launched by the industry.

Question Number : 142 Question Id : 630680227307 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Select the option that expresses the given sentence in passive voice.

The industry will launch some new products.

Options :
1. % Some new products would be launched by industry.

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

2. % Some new products will be launched by the industry.

3. % Some new products have been launched by the industry.
4. % Some new products would been launched by the industry.

Question Number : 143 Question Id : 630680227308 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

Match the idioms in column I with their meanings in column II.

Column I Column IT
A | Off colour 1 | Pleasantly brief
B | Pull one's leg 2 | To control
C | Short and sweet | 3 | Tease someone
D | Keep in check | 4 | Slightly unwell
Options :

l. & A-2,B-1,C-4,D-3
2. % A-1,B-3,C-2,D-4
3. % A-4,B-1,C-2,D-3
4. % A-4,B-3,C-1,D-2

Question Number : 143 Question Id : 630680227308 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

Match the idioms in column I with their meanings in column II.

Column I Column IT
A | Off colour 1 | Pleasantly brief
B | Pull one's leg 2 | To control
C | Short and sweet | 3 | Tease someone
D | Keep in check | 4 | Slightly unwell
Options :

l. & A-2,B-1,C-4,D-3
2. % A-1,B-3,C-2,D-4
3. % A-4,B-1,C-2,D-3
4. % A-4,B-3,C-1,D-2

Question Number : 144 Question Id : 630680227309 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
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Match the idioms in column I with their meanings in column II.

Column I Column II
A | Lost cause 1| A person or thing that is certain to fail
B | Make a flying visit 2 | Infuriate someone
C | Make someone's blood boil | 3 | Very small budget
D | On a shoe string 4| To make a quick trip
Options :

1. % A-2,B-1,C-4,D-3
2. ¥ A-1,B-4,C-2,D-3
3. % A-3,B-2,C-4,D-1
4. % A-1,B-4,C-3,D-2

Question Number : 144 Question Id : 630680227309 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
Match the idioms in column I with their meanings in column II.

Column I Column II
A | Lost cause 1| A person or thing that is certain to fail
B | Make a flying visit 2 | Infuriate someone
C | Make someone's blood boil | 3 | Very small budget
D | On a shoe string 4| To make a quick trip
Options :

1. ® A-2,B-1,C-4, D-3
2.v A-1,B-4,C-2, D-3
3. % A-3,B-2, C-4, D-1
4. % A-1,B-4,C-3,D-2

Question Number : 145 Question Id : 630680227310 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of synonyms.

A. Cloudy : Hazy
B. Meek : Timid

C. Obvious : Dark
D. Passionate : Cold

Options :

1. % AlA,B,Cand D
2. % Only A and B

3. % Only C

4. % Only Cand D

Question Number : 145 Question Id : 630680227310 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of synonyms.

A. Cloudy : Hazy
B. Meek : Timid
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C. Obvious : Dark
D. Passionate : Cold
Options :
1. % AIlA,B,Cand D
2. % Only A and B
3. % Only C
4. % Only C and D

Question Number : 146 Question Id : 630680227311 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of antonyms.

A. Haphazard : Erratic
B. Lunatic : Sane

C. Dodge : Embrace

D. Spurious : Authentic

Options :

1. % Only A and C
2.% Only B, Cand D
3. % Only B

4. % AIlA,B,Cand D

Question Number : 146 Question Id : 630680227311 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of antonyms.

A. Haphazard : Erratic
B. Lunatic : Sane

C. Dodge : Embrace

D. Spurious : Authentic

Options :

1. % Only A and C

2. % Only B, C and D
3. % Only B

4. % Al A,B,Cand D

Question Number : 147 Question Id : 630680227312 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence(s) with no spelling errors from the given sentences.

A. The story can explore human relationships.
B. The pursuit of mastery bears gifts.

Options :

1. % Only A

2. % Only B

3. % Both A and B
4. % Neither A nor B

Question Number : 147 Question Id : 630680227312 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence(s) with no spelling errors from the given sentences.

A. The story can explore human relationships.
B. The pursuit of mastery bears gifts.
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Options :

1. % Only A

2. % Only B

3. % Both A and B
4. s Neither A nor B

Question Number : 148 Question Id : 630680227313 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence(s) with no spelling errors from the given sentences.

A. He is in danger of losing his position unless he works harder.
B. Almond milk is another popular dairy substiute due to the popularity of almonds.

Options :

1. % Only A

2. % Only B

3. % BothAand B
4. s Neither A nor B

Question Number : 148 Question Id : 630680227313 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence(s) with no spelling errors from the given sentences.

A. He is in danger of losing his position unless he works harder.
B. Almond milk is another popular dairy substiute due to the popularity of almonds.

Options :

1. ¥ Only A

2. % Only B

3. % Both Aand B
4. % Neither A nor B

Question Number : 149 Question Id : 630680227314 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

I want you to me as soon as possible.
Options :
1. & mete
2. ¥ meet
3. % met
4. % meat

Question Number : 149 Question Id : 630680227314 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
Select the most appropriate option for the given blank.

I want you to me as soon as possible.
Options :
1. ® mete
2. ¥ meet
3. # met
4. ®% meat
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Question Number : 150 Question Id : 630680227315 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

This outstanding book was authored by a seasoned bantam and large poultry farmer and show judge.
Options :

1. % foul

2. % fall

3.9 fowl

4. % frown

Question Number : 150 Question Id : 630680227315 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

This outstanding book was authored by a seasoned bantam and large poultry farmer and show judge.
Options :

1. % foul

2. & fall

3. ¢ fowl

4. % frown
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